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General Instructions

Do not open this question booklet until you are asked to
do so

IMMEDIATELY AFTER THE COMMENCEMENT OF THE
EXAMINATION, YOU SHOULD CHECK THAT THIS TEST
BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN
OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT
REPLACED BY A COMPLETE TEST BOOKLET.

This Test Booklet contains 150 items (questions). Each
item is printed both in Hindi and English. Each item
comprises four responses (options). You will select the
response which you want to mark on the OMR Sheet. In
case you feel that there is more than one correct
response, mark the response which you consider the
best. In any case choose ONLY ONE response for each
question.

Mark your answers in the Separate OMR sheet provided
to you. Fill up the respective circle in OMR sheet
completely by black ball pen.

This question paper has 150 questions. 100 from
General Studies 50 Question from Aptitude which all
carry equal marks.

There will be penalty for wrong answers marked by the
candidate% of the marks assigned to that question

Calculator, mobile phone, or other electronic gadgets
are not allowed in examination hall.

Do not leave the examination hall without permission of
the invigilator before time.

Cheating of any kind will disqualify the applicant
immediately from this CET.

If there is any sort of mistake either of printing or of
factual nature in any question, then out of the Hindi and
English version of the question, English Version will be
treated as a final.

You have to write the essay as per instructions given on
page 61 of this booklet in 30 minutes which carries 50
marks.

Please handover essay paper sheets to invigilator at the
end of CET.
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Consider the following statements about
1937 elections:

1.0Only provincial elections were held and no
elections were held at the federal level.

2.Congress Ministries were formed in all the
provinces except Bengal and Punjab.

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Arrange the following events of the Indian
freedom movement in correct
chronological sequence:

1.Second Round Table Conference

2. The foundation of All-India Students'
Federation

3.The first Independence (Swarajya) day Was
celebrated

Select the correct answer using the code Given
below.

(@) 1-2-3
(b) 1-3-2
(c) 3-1-2
(d) 3-2-1

Consider the following statements with
regard to civil services in India:

1. Lord Cornwallis introduced the covenanted
civil services and the uncovenanted civil
services.

2. Lord Wellesley established the college of
Fort William at Calcutta to educate recruits
for civil services

3. The Charter Act of 1853 provided for an
open competitive examination for the
recruitment of civil servants.

Which of the statements given above is/are
correct?

(@) 1 and 3 only
(b) 2 only
(c) 1 only
(d) 1,2 and 3
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In the context of Indian economy, the term
“Twin Deficit” refers to

(a) Revenue deficit accompanied with Fiscal
Deficit.

(b) Occurrence of Current Account Deficit and
Fiscal Deficit together.

(¢) Simultaneous Current Account Deficit and
Capital Account Deficit

(d) Simultaneous rise in the Non- Performing
Assets of banks and debt-burden of the
corporates

In the context of the economy, tax
expenditure refers to:

(a)The expenditure shown on corporate
balance sheet to avoid taxes.

(b)The expenditure incurred by the
Government in the collection of taxes.

(c) The expenditure incurred by firms for tax
and administrative compliance.

(d)The opportunity cost of taxing at
concessional rates.

The term ‘base year’ in relation to GDP
refers to

(a) The year preceding the current financial
year.

(b) The starting year of a new decade.

(c) The year whose prices are being used to
calculate the real GDP.

(d) The year whose nominal GDP is equal to
real GDP of current year.

Consider the following statements about
the Nehru Report:

1.1t provided for Dominion Status as the form
of Government in India.

2.It rejected the principle of separate
communal electorates.

3.1t agreed on reserving seats for Muslims at
the Centre and in Provinces where they
were in majority.

Which of the statements given above is/are
correct?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 3 only
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(d) 1 and 3 only

Consider the following  statements
regarding the 'Independence for India
League':

1.It was founded by Jawaharlal Nehru as
president and Subhash Chandra Bose as
secretary.

2.1t was formed with the objective of attaining
complete independence with a socialist
vision of the economic structure of society.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Identify the commission with reference to
recommendations given below:

1. It was set up to study and report on
problems of Calcutta University but its
recommendations were applicable to other
universities also.

2. One of its recommendations was that
students should enter university after an
intermediate stage (rather than matric) for
a three-year degree course in university.

3. A separate board of secondary and
intermediate education should be set up
for administration and control of secondary
and intermediate education.

Select the correct answer using the code given
below.

(a) Saddler Commission
(b) Hartog commission
(c) Raleigh commission
(

d) Sergant plan
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10.

11.

12.

13.

Consider the following events: 10.

1. Purna Swaraj Declaration

2.Hindustan Socialist Republican Association
was founded

3. Swarajya Party was formed

Which of the following is the correct
chronological sequence of the above events?

(a) 2-3-1
(b) 3-2-1
(c) 2-1-3
(d) 3-1-2

Consider the following statements with 11.

reference to trade in Harappan Civilisation:

1. Trade was based on the exchange of goods
without the use of money.

2. Harappans did not had knowledge of the
sea.

Which of the statements given above is/are
correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following
regarding Tanjore paintings:

1. It is a type of miniature painting.
2. It flourished during the Gupta period.

3. The conical crown appearing in the
miniature is a typical feature of this
painting.

Which of the statements given above are
correct?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

Consider the following statements with 13.

reference to Mansabdari system:
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14.

15.

16.

1.It was an administrative system responsible
for looking after the civil and military affairs
of the state.

2. It was introduced in India by Akbar.

3. Mansabdars were paid in the form of
assignments of areas of land (jagir).

Which of the statement given above is/are
correct?

(a) 1 and 2 only
(b) 2 only

(c) 1 only

(d) 1,2 and 3

Kalpa Sutra, a Jain ancient textbook
containing the biographies of the last two
Jain Tirthankaras is written by:

(a) By Kautilya

(b) By Bhadrabahu
(c) By Ashvaghosha
(d) By Sthulabhadra

Which of the following is/are correct
regarding the social conditions during the
Sultanate period?

1. Women did not enjoy any property rights.

2. Forced religious conversion to Islam was
widespread.

3.There was a complete
construction of temples.

ban on the

Select the correct answer using the code given
below.

(@) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d) None

In the context of various travellers who
visited India during the reign of different
dynasties, consider the following pairs:

Travelers Dynasty

1. Ibn-Batuta Tughlaqgs

2. Marco Polo Vijayanagar
3. Niccolo de' Conti : Kakatiyas
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17.

18.

19.

Which of the pairs given above is/are correctly
matched?

(a) 2 only
(b) 2 and 3 only
(c) 1 only

(d) 1,2 and 3

Consider the following statements with 17.

reference to the Kishangarh school of
painting:

1.This style of painting essentially depicts
Radha and Krishna as divine lovers.

2.Nihal Chand was the famous painter under
this school.

3.Bani Thani is a famous painting associated
with this school.

Which of the statements given above are
correct?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

Consider the following rivers: 18.

1. Tapi
2. Mahi
3. Damodar

Which of the rivers given above flow through
rift valleys?

(@) 1 and 2 only
(b) 2 and 3 only
(¢)1,2and 3

(d) 1 and 3 only

Why people do not sink in the Dead Sea? 19.

(a) The presence of marine animals in the sea.

(b) The low temperature in the dead sea makes
swimmers more buoyant.

(c) The high salt concentration in the dead sea
increases the density of the water.

(d) The depth of the thermocline is located
near the surface of the Dead sea
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20.

21.

22.

Red and Yellow soils are widely prevalent
in the Deccan Plateau. With reference to
these soils, consider the following
statements:

1. They develop on crystalline igneous rocks
in areas of low rainfall.

2. The reddish color of the soil is due to the
diffusion of Iron.

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following activities:
1. Hunting and gathering

2. Pastoral activities

3. Fishing

4. Forestry

5. Mining and quarrying

Which of the activities mentioned above are
considered primary activities?

(a) 3 and 4 only
(b) 1, 2 and 3 only
(¢) 2, 4 and 5 only
(d)1,2,3,4and 5
Consider the following statements:

1.India is the largest producer of coffee in the
world.

2. India mostly produces arabica coffee.

3.Kerala is the largest coffee-producing state
in India.

Which of the statements given above is are
correct?

(a) 2 only

(b

) 1 and 3 only
)

(¢) 1 and 2 only

(d) 1 only
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23.

24.

25.

26.

Which of the following are pass
connects India and Nepal?

1. Lipulekh
2. Nathu La
3. Jelep La

4. Zoji La

Select the correct answer using the codes
given below.

(a) 1 and 2 only
(b) 1, 3 and 4 only
(c) 1 only

(d) 2, 3 and 4 only

The Indian National Super Model,
monitor the transmission of COVID-19
infection is recently launched by which of
the following ministries?

(a) Ministry of Home Affairs

(b) Ministry of Health and Family Welfare
(c) Ministry of Science and Technology
(d) Ministry of Statistics and Program

Implementation

FASTags enable digital and contactless 25.

payment of tolls. Consider the following
statements regarding the technology
applied in FASTags:

1.FasTags are a type of matrix bar codes
which hold information of the bank
account details of the cardholder.

2. To read the information on the tag,it must
lie in the line of sight of the reader.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Which of the following languages are listed 26.

as a part of the official languages in the
Union Territory of Jammu and Kashmir?
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27.

28.

. Hindi

. Urdu

. Dogri

. Pashto
S. Punjabi

Select the correct answer using the code given
below.

(@) 1, 2 and 4 only
(b) 3, 4 and 5 only
(¢) 1, 2 and 3 only
(d) 1, 2, 3 and 5 only

AW N~

If India decides to cede territory to any of
its neighbours, which of the following
would be used by the Parliament?

1. Article 2
2. Article 3
3. Article 368

Select the correct answer using the code given
below.

(@) 1 and 2 only
(b) 2 and 3 only
(c) 3 only

(d) 1,2 and 3

Which of the following can be identified as
the major objectives of NITI Aayog?

1. Fostering cooperative federalism

2. Acting as a platform for the resolution of
inter-departmental issues.

3. Integrating villages
processes.

into developmental

4. To leverage India's demographic dividend.

Select the correct answer using the code given
below.

(@ 1, 3 and 4 only
(b) 2 and 4 only
(c) 1, 2 and 3 only
(d)1,2,3and 4
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1. Tt

2.3

3. SR

4. gl

5. GolTal!

i faU TN e &1 TN R g1 SR gAY |
(a) PId 1,2 3R 4
(b) Had 3,4 3R 5
(c) Pad 1,2 3R 3
(d)Pad1,2,33R5
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1. 3G 2

2. 3G 3

3. 3fJ=9G 368
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+Idl 3T 7T e &1 T AR el SR AT |
(a) Had 1, 3 3R 4
(b) Had 2 3R 4
(c) Had 1,2 3R 3
(d)1,2,3 3R 4
10



29.

30.

Which of the following provisions of the
Constitution reveal the secular character
of the Indian State?

1. Preamble

2. Directive Principles of State Policy
3. Fundamental Duties

4. Fundamental Rights

Select the correct answer using the code given
below.

(@) 1, 2 and 4 only
(b) 2. 3 and 4 only
(c) 1 and 3 only
(d)1,2,3and 4

With reference to the type of majorities in
Parliament, consider the following pairs:

Majority Required for

: Resolution for

removal of Vice-
President in Rajya
Sabha

1.Simple Majority

2.Absolute Majority : Widening the

jurisdiction on the
Supreme Court

3. Special Majority : Abolition or creation of

legislative councils in
states

Which of the pairs given above is/are not
correctly matched?

(@) 1 and 2 only
(b) 2 only

(c) 1 and 3 only
(d) 1,2 and 3

JATF CET- 21

29.

30.

iy & Frafafed yeyi § @ o9 - 9

%m?ﬂuw%ﬁuﬁ?&&rahaaﬁwﬁhmﬁ
?
1. SR
2. 39 1 Hifq & ez a@
3. qd A
4. d DR
F U U Be &1 9T HR TE SW AT |
(@) Pada 1,23 4
(b) Had 2, 3 3R 4
(c) Pad 1 3R 3
d)1,2,33R4
g ¥ Uga 9599 & ORI & Hed #
Frafafeaa g « far sifve
Igud SATIIHdT
1 YRV §gAT : IASTHHT H IWIFULT Pl
8¢ & bl 8
2. q0f 9gqd - IqH AT & A
a7 ¥ farR 'q
3. fadiy sgma 1o o faer ufvwet

®1 G I G 8

gqﬁaﬁ?ﬁﬁﬁﬁﬂ-w/ﬁﬂﬁﬁﬂ%ﬂﬁ%/
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31.

32.

Consider the following pairs: 31.
Constitutional
Amendment Outcome

1. 61st Amendment Act :Reduced voting age
from 21 years to 18

years
2. 86th Amendment Act :Fundamental duty of
parents for

educating the child

3. 52nd Amendment Act :Disqualifications on
the ground of
defection

Which of the pairs given above is/are correctly
matched?

(a) 3 only

(b) 1 and 2 only
(c) 2 only

(d) 1,2 and 3

Which of the following features make 32.

elections in India free and fair?

1. Universal Adult Franchise
2. Independence of Election Commission

3. Use of VVPAT in the voting process.

Select the correct answer using the code given
below.

(@) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1,2 and 3

JATF CET- 21

frufafead g w foar Fifte :

Ty T=ne= gforme

1. 61 3 GRNYA SATIH : AdeH & 31 21
T4 3 geThr 18 a9
IS |

2. 86 af GNYH AT : S1ad oI FRfda
AT AT - [T &1
T Hcd g |

3. 52 af IRNY AAFTH : g uRada & R
R fAedr &1 SusY
forar |

Sudad g § B - A1/ 4 T Al g / 8

(a) Had 3

(b) HIA 1 3MR 2
(c) Pad 2
(d)1,23MR3

frafafaa & @ #19 H faQivad urRa & -
frafem <) Tda ik fAwger st 82

1. AP TIH AAUPR
2. fafaA ST &Y wadzar
3. Ada Ufehar H VVPAT &1 T4 |

el f3T T P o1 T R el SR g |
(a) Fad 1 3R 2
(b) Fad 1 3R 3
(c) Pad 2 3R 3
(d) 1,233
12



33.

34.

35.

Which of the following conditions are 33.

sufficient for a political party to be
recognized as a national party in India?

1. It secures 6% of the valid votes polled in
any four or more states and four seats a
Lok Sabha general election.

2. It wins two percent of the seats from at least
three states in Lok Sabha general clection.

3. It is recognized as a state party in at least
two states.

Select the correct answer using the code given
below.

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

The office of the ‘Leader of the House’ is 34.

provided under:
(a) Parliamentary Statute

(b)Rules of Procedure
Business

and Conduct of

(c) Constitution of India

(d) None of the above

Consider the following pairs: 35.

Union Territory : Under the territorial
Jjurisdiction of

1. Andaman and : Madras High Court
Nicobar Islands

2. Lakshadweep : Kerala High Court
Islands

3. Daman and Diu : Gujarat High Court

Which of the pairs given above is/are correctly
matched?

(@) 1 and 2 only
(b) 2 only

(c) 1 and 3 only
(d) 1,2 and 3

JATF CET- 21

fFafafae & @ o9 @ offRufoar fh
eHIfa® g B HRA H P o & FUH
ARG 34 & fore i & 2

198 AHIHT & YR Fata # 4 T urd
BT 2 3R B TR 3rar 3ifres Iat # Ay
Tl & 6% A U HRATE |

2.98 AHIHT YR fAafed # &0 9 &H
I @ 3 ufeRra diel W ferh gt e

3.39 ®H J HH ¢l Tdl A ITERT S b T
T JIdT T 87 |

i 3T U e &1 T e g1 IR gAY |
(a) PId 1 3R 2
(b) Fad 2 3R 3
(c) Fad 1 3R 3
(d)1,2 3R 3

e & AdT ' & U &1 Iusy FAufeafaa & 3
fpud dgd fear T 82

(a) GHdIT fafey

(b) UfehaT a1 B TaTe fawares faw -
(c) HRd P1 dfae™

(d) Sudad H § PIg Tal

Frafafeaa g w faar #ifv:
Y TsueT - &A1 fIBTIRGT & 3eha

1. 3fSHM 3R FPIER : Ag 3= T gg
e
2. &g gy g

3. g9 3R &g

I I AT
ToRId 3 AT

S T A A -1/ AT AR /8 2
(a) Had 1 3R 2
(b) Had 2
(c) Fad 1 3R 3
(d)1,23R3
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36.

37.

38.

Which of the following are the essential 36.

characteristics shared by wetlands?

1. Abundance of water
2. Vegetation with special adaptations

3. Predominance of aerobic decomposition

Select the correct answer using the code given
below.

(@ 1,2and 3

(b) 2 and 3 only
(c) 1 and 3 only
(d) 1 and 2 only

‘KAPILA’ Program, recently seen in news 37.

is related to

(a) Animal Husbandry

(b) Women Empowerment

(c) Intellectual Property Literacy and
Awareness campaign

(d) Micro, Small and Medium Enterprises

With reference to coarse cereals, consider 38.

the following statements:

1. Sorghum can be cultivated as both Kharif
and Rabi crop

2. The yield level of maize is the highest
among all coarse cereals in India.

3. India is the largest producer of coarse
cereals in the world.

Which of the statements given above is/are
correct?

(@) 1 only
(b) 2 only
(c) 1 and 2 only
(d) 2 and 3 only

JATF CET- 21

frafafea 4 4 1 - o
1 & arett sifard fawang & 2

NI

1. STd &1 TRl
2. ORIV 3 aH gad a=ufa

3. gAY AUge &t U]

I faU TN e &1 TN R g1 SR gAY |
(a) 1,2 3R 3
(b) Had 2 3R 3
(c) Had 1 3R 3
(d) Pad 1 3R

g & o gRedal § |1 SiUar ( KAPILA )
Prdpy afea 3 :

(a) TIUTE &

(b) AT TRHITHT &
(c)Sfe TUeT TTerdT 3R SR I
(d) g&H , Y 3R Tegw I 9

e s & "ed o, Fufaf@d sy w
fR #ifvm ;

1. SR B! W% R & aHl Bad Bl &
TR Wt Bl ST bt g |

2. Had Bt U TR HRA & I+t Al 3[ |
Jaifis & |

3. HRd fay & HiT 3TNl 3T T §81 SUTCH §
|

Sed HUA A A B -/ AR /T2
(a) Had 1
(b) Had 2

(c) Fad 1 3R 2

(d) PId 2 3R 3
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39.

40.

41.

With reference to the interlinking of rivers,
which of the following river links form a
part of the Himalayan component?

1. Subarnrekha - Mahanadi
2. Kosi - Mechi
3. Bedti - Varda
4. Ken - Betwa

Select the correct answer using the code given
below.

(@) 1, 2 and 3 only
(b) 2 and 3 only
(¢) 1 and 2 only
(d) 3 and 4 only

Consider the following pairs:
Gas Field State

1. Ravva Andhra Pradesh
2. Khubal Tripura

3. Hazira Maharashtra

Which of the pairs given above are correctly
matched?

(a) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1,2 and 3

Consider
regarding
waterways:
1.The National Waterway 4 connecting

Kakinada to Puducherry is the shortest
Inland water of India.

the following  statements
India's national inland

2.The National Waterway 5 connects Lakhipur
and Bhanga of the Barak River in North-
East India.

3.National Waterway 3 is the only waterway of
India that serves five states.

Which of the statements given above is/are
not correct?

(@) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

JATF CET- 21

39.

40.

41.

afea) &) 3w § wieq & de A, fufufada
%ﬁ'ﬁaﬁq-mqﬁﬁa’uﬁmﬁwmm
?

1.gaui¥@r - HgHe
2. DIt - T
3. sl - WWal
4. B - §qal
i faU TN e &1 TN R g1 SR gAY |
a)PHada 1,2, 3R 3
b) I 2 3R 3
(c) Pad 1 3R 2
d) Fad 3 3R 4
Frafafe gl «R far sifse
T & I
1. 37dT 3{igf UGEI
2.99 @ BgW
3.89IRT  : HERIY

Iudad YA B B - TR 8 /82
a) Pad 1 3R 2
b) Fad 1 3R 3
c)mze?m
)1,2 3R 3

& AP i STewmT & HeH |
ﬁ?%@?mwﬁwﬁawﬁm

1. BIBHIST DI Yol A SIS Tl AP SIAANT
4 HRd &1 Jad BleT dSNT SIerAnf & |

2. PR SN 5 IR - §d HRd H &I A &
AR R Y I SheaTg |

3. AFT SR 3 HRT ] THHH FaHT ¢
Ui It ¥ GIpR STl @ |

I YA A A B - T I TRl 8/ 82
a) Had 1
(b) Fad 2 3R 3
(c) Pad 1 3R 3
(d)1,23MR3
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42.

43.

44,

The 'Neem Campaign', often seen in the
news with reference to India's relation with
the West, is related to:

(a) A collaboration between India and western
countries for greening India.

(b)An initiative to mobilize worldwide support
to protect indigenous knowledge systems
and resources of the Third World from
piracy by the West.

(c)Ban On import of non-neem coated urea
from West, by India.

(d)An initiative to propagate
medicine practices in India.

traditional

Which of the following are observed during
an El Nifio event?

1. More tropical storms and hurricanes in the
eastern Pacific

2. Strengthening of the easterly trade winds
converging across the equatorial Pacific.

3. Reversal of ocean currents along the
equator.

Select the correct answer using the code given
below.

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

With reference to ‘dugong’, a mammal
found in India, which of the following
statements is/are correct?

1. It is an herbivorous mammal that is strictly
marine.

2. These mammals are found only in warm
coastal waters of the Indian Ocean.

3. It is listed as vulnerable in the JUCN Red
List.

Select the correct answer using the code given
below.

(a) 1 and 2 only
(b) 1 and 3 only
(c) 3 only

(d) 1,2 and 3

JATF CET- 21

42.

43.

44,

uf¥| & 91Y HRd & &Y & e |, v -

gy ¥ vg= aren ' g it wefta 8

(a)HRd DI 8 - WRT M & g YR 3R ufyeh
20 & Heg TgaT |

()T ey BT =TS 1 womferdy ofik Tmei ot
gf3ef <=1 gRT IRY fhT OH & & HH &
forg fay R o 99 Jem &1 ugd |

(MR & 9y ¥ R - i\ aftd gfivar & smard
R Ufdey |

(d)HRd H URUR® feifered Ul &1 IR o
P Ugd |

I - Y B ge & R Fufaf@a d |

o - A Rafga g & 2

1. 7o vrid o o1t Iwrsfeseia awara iR
BRP |

2. YAERWEY Uid &4 7 fHaRd g arell
At Il uaH! &1 geaidu |

3. YO AT & 1Y ERITRI YRTST BT Iehdul
|

+Idl 3T 7T e &1 T AR sl SR AT |
(a) Had 1 3R 2
(b) PI 2 3R 3
(c) Pad 1 3R 3
(d) 1,2 3R 3
YRA § UTT 914 a1 TRt g & dgf
%ﬁ:;ﬁuﬁr@amﬁﬁﬁaﬁq-m/QHﬁ%/
1. 98 TP YUid : T AMBERT THUR B |

2. U8 TWAYRY fEe A8NITR & dad W acig
S H U ST € |

3.%€|UONﬁw%€ﬁﬁﬂa$wﬁﬂjﬂa@
|

i faU TN e &1 TN R g1 SR gAY |
(a) PId 1 3MR 2
(b) HIT 1 3R 3
(c) Had 3
(d)1,23R3
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45.

46.

47.

Two water bodies, A and B have the same
size and shape. However, Lake A is located
in the hot region of Rajasthan, while Lake
B is located in higher altitudes of the cold
Himalayan region.With reference to
Dissolved Oxygen (DO), which of the
following statements is correct?

(a) ‘A’ has a higher DO than ‘B’
(b) ‘B’ has higher DO than ‘A’

(c) Both have equal DO
(

d) Nothing conclusive can be stated

Which of the following regions have been
classified as 'Biodiversity Hotspots'?

1. The Western Ghats
2. Lakshadweep Islands
3. Himalayas

4. Indo-Burma region

Select the correct answer using the code given
below.

(@ 1, 2 and 3 only
(b) 2 and 4 only

(c) 1, 3 and 4 only
(d) 1, 2 and 4 only

Which of the following is not the criteria
for the designation of a wetland under the
Ramsar Convention?

(a)It should support any vulnerable,
endangered, or critically endangered
species or threatened ecological
communities.

(b)It should regularly support 1000 or more
waterbirds.

(c)It support to plant and/or animal species at
a critical stage in their life cycles, or
provides refuge during adverse conditions.

(d)It support to 1% of the individuals in a
population of one species or subspecies of
wetland-dependent  non-avian  animal
species.

JATF CET- 21

45,

46.

47.

3 o Tl A 3R B &1 GHIH TR
3THfa B | g1l , e A I & o
F fRuq 2 , wraf o B 33 Rwed a3
ar&&mammw%% |
fefter ( DO ) & wed o, Fmfefaa o
P - AT HYT AT © ?

a)‘A'H ‘B’ ¥ 3 gferd sifaiteH (DO ) §
b) B’ H ‘A’ § 31 gfera il (DO ) §
c) T H SRTeR gferd Sffeils (DO ) §
d) Furfas 0 @ oo 78 Fe1 o Thar §
fFafafea & 9 f571 a3 <t * J9 fafqua
glewic ' & ¥u § affed frar mar € 2
1. gigwt gre
2. J&fgiu gIugg
3. feare™
4. 3S) - 91 & ( HRAN - TR &)
+Idl 3T 7T e &1 T AR ol SR g |
a)Had 1,2 3R 3
(b) PI 2 3MR 4
(c) Had 1,3 3R 4
(d) Had 1, 2 3R 4

fafffed & 3 &9 - 91 IR AT F
gm@%wﬁﬁﬁgmﬁmm
?

S

v 8

HRE DI FHUT UG Hal o |

b) a8 fufird U & 1000 a1 31 STeruferal
Y UM a1 B |

c) 98 U Siiad b $I Agayul a0l H UGy
3R / 1 S venfadl & gwdE a1 ufagd
GiRfRUfcrt & IRUT Y& Hdl 8l |

d) 98 omyfr w MR A ufemm o
Uolfadl @ U Uelid a1 U - Ui &t
WW%W@*@W@WW

|

17



48.

49.

50.

(d)CPCB

As per the Solid Waste Management Rules, 48.
2016 in India, which of the following
statements is correct?

(a)The Rules are applicable to Municipal areas

and urban agglomerations only.

(b)As per the new rules, the landfill site shall

be 5 km away from a river.

(c)The generator will have to pay “User Fee” to

the waste collector which will be decided by
the local bodies.

shall prepare solid waste
management plan with time line and its
implementation

Consider the following statements with 49.
regard to photochemical smog:

1.The primary components are ozone, nitric

oxide, formaldehyde
nitrate (PAN).

and peroxyacetyl

2.It occurs in a warm, humid and sunny

climate.

3.Plants like Pinus, Juniperus, and Quercus

help in preventing its formation.

Which of the statements given above is/are
correct?

(@) 1 and 3 only
(b) 2 only
(c) 1 and 2 only
(d) 3 only

With reference to 'Solar City', consider the 50.
following statements:

1.They are cities that aim at ten per cent

reduction in projected demand of

conventional energy.

2.It includes only metro cities having a

population above 10 million.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

JATF CET- 21

YRd # 319 Uy usyT faH, 2016 & |
ER, Fafafaa sy A A &9 - a1 adi 82

a) A 1gw Sae TRUTerT &1 3R Wed) Tl
WRAFEAE |

b) T Ol & SFER , YARTE R 7 I 5
fopelt gR g |

¢) UMY I HI aTell B Y JUTEH ol

"SUANTHAl Yed" BT YA HAT gRT
S Fulor wlg Rt grr e

SITEIT |

(d) P vguur g S gR1 oI Sy
s o BT JHY - AT 3R ST
ST & 1Y dIR foar Se |

UPTR INTRS YA -Pigdn ded &8
frafefad syt R faar Fifve -

(1712 o o T 1 M 4 Pt R o3 | X
qﬂﬁ%@ﬁ@@ﬁ?wﬁ&é’@a?@f@m%

2.8 I35 3R 1P YU Seag H e g |
30139, IR, SRHT o9 Q18 g9 fAufor

A & eI HA§ |
IWad FYTN A Y HH - AT L &/ 82

a) Had 1 3R 3

b) Had 2

c) Pad 1 3R 2

(d) Had 3

' TieR fdt & ded A |, Fufafed sy w®
foaR Fifve -

1. ¥ T TR € e 980 URuR® ol @t
AT AT H G Ufa=Td o Ht e

2. 398 &ad 10 fAferam ¥ 3if¥e & 3rardt ara
AT TR widfera | |

S YT B Y B - TR 8 /82
(a) %?H
(b) HId 2
(c) 1 3R 2 gt
(@dadr1,982

18



51.

52.

Consider the following statements:

1.Particular Matter 2.5 (PM 2.5) refers to
particles that have diameter less than 2.5
millimetres.

2. Pesticide related waste produces dioxins.

3.Acid rains is caused by the oxides of
nitrogen and sulphur.

Which of the statements given above is/are
correct?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

Which of the following is/are correct with
reference to the Attorney General of India?

1. He has the right to speak and to take part
in the proceedings of both the Houses of
Parliament.

2.He enjoys all the privileges and immunities
that are available to a Member of Parliament.

3.He is a full-time counsel for the Government
and falls in the category of government
servants.

Select the correct answer using the code given
below.

(@) 1 only

(b) 2 and 3 only
(c) 1 and 2 only
(d) 1,2 and 3

JATF CET- 21

51.

52.

Fruafafed sy w faar Fifse

1. BOTEI TerRf 2.5 ( PM 2.5 ) 39 HUN &
Hefia oar g e @ 2.5 fidiier 3
FHEAS |

2. BleARIe T T&fdd Uy ssaiifedd &1
JACTIRAE |

3. 3 Ul Ao 3R TR & SHaISs! &
PRUEA S |

S SUTN B A BT - T A2/ &7

(a) Pad 1 3R 2
(b) Had 2 3R 3
(c) Fad 1 3R 3
(d) 1,2 3R 3

YRd & HeraEardt & ded A Fufafaa
FYN AP -AT/ A G 8/ 82

1. 38 ¥9¢ & qHI el H e 3R IPI
FHraareal § 4T A1 BT PR B |

2. 3 U 449G 9o & Ui gt foriwfieR
3R IHfekrat T €Il € |

3. U8 PR BT QUidsTieras feraadr giar g iR
WHR HHARt Bt Foft 7 2t g

+Id 3T 7T Fe &1 7T R el SR g |

(a) Had 1

(b) Had 2 3R 3
(c) Pad 1 3R 2
(d) 1,2 3R 3
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53.

54.

55.

Which of the following provisions in the
Indian Constitution has/have been
borrowed from the British Constitution?

1.Institution of the Speaker and her/his role
2.Indian government as a Union of States

3.First Past the Post form of election in the
Lower House

Select the correct answer using the code given
below.

(@) 1 only
(b) 1 and 2 only
(c) 1 and 3 only
(d) 3 only

Which of the following was the reason for
removal of Subhas Chandra Bose from all
Congress positions in August 1938?

(a)After resigning as the Congress President he
wanted to form his own party called
Forward Bloc.

(b)He had refused to work with the old
Working Committee of the Congress.

(c)He had called for an all-India protest
against an AICC resolution banning civil

disobedience by Congressmen without
Pradesh previous Congress Committee
(PCCS).

(d)He had accused the majority of the top
Congress leadership of working on a
compromise with the government on the
permission of question of federation.

With reference to the 104th Constitutional
Amendment Act 2020, which of the
following statements is/are correct?

(a) It extended the reservation of seats for the
SC-ST communities in the Lok Sabha and
Rajya Sabha

(b) It ended the reservation of seats for the
Anglo-Indian community in the Lok Sabha
and State Legislative Assemblies.

(c) It extended the reservation of seats for the
OBC community in the Lok Sabha

(d) Both (a) and (b)

JATF CET- 21

53.

54.

55.

YR ey A FufafR@add s -91/9
gy fafewr "y & ugor foear mar 8/
fPrme
1. AHIUT el BT UG 3R ITDT YT
2. I & Y & ¥Y H YR TRHR
3. f75 9 & fafes g e uRe € Uike Ried
2 U 7T Be &1 9T HR TE IW AT |
a) Had 1
b) I 1 3R 2
c) Had 1 3R 3
d) %dd 3
3R, 1938 H YUY U5 T &I S99 & It
Tgl & gee w1 & fog Fafafea 4 9 «.-
T HRUT IS UT?
()P 37ehe & U H IANTIH ¢4 & UYTq I8
BRAS AP THS AU G MG HAT
e U |
(b)IB BT B R PrRicpTRl wfiifa & Ty
S HA Y AT R fear T |
¢) S UG SR AT (CCP )T gd SrHfT
& o HOR™ gRT 9fdTa 3faq | ufdsy
TH I YT HRA ST IHfT (AICC)
& UWE & dog Sifed HRdT faiy &1
TR fobam o |
(d) I8 BT Y HIY A R HGNY &
Y TR PR P 1Y JHSNAT B BT 3RY
ST T |

104 9 Tfaer Gny= sifafaad, 2020 & Ta
%ﬁ:,ﬁyﬁr@a$u=|‘fﬁﬁaﬁ=r-m/ﬁﬁﬁ%/
?

(a) 3T AHIHT 3R IoTHT § SrIgfad Sfa-
&qﬁﬁlﬁm%%%u@a%wwﬁq@

(b)svﬁﬁﬁwmsﬁ?w%wm&ﬁﬁ&ma-
mmﬁuw%%u@ﬁm&mmwm
|

) 3T AHaHT ¥ OBC IHe™ & fog Il &
3REU T gfg &l |

(d) (a) 3R (b) Tt
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56.

57.

Consider the following statements with 56.

reference to the Union Council of

Ministers:

1.A vote of confidence even against a single
minister leads to the resignation of the
entire Council of Ministers.

2. The Council of Ministers is collectively
responsible to the President.

3.A minister who is a member of the Lok
sabha has the right to speak and take part
in the proceeding of the Rajya Sabha but
without being entitled to vote.

Which of the statements given above are
correct?
(a) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1,2 and 3

With reference to Members of Parliament

Local Area Development Scheme
(MPLADS), consider the following
statements:

1.It is wunder the Ministry of Rural
Development.

2.Nominated members of Lok Sabha and
Rajya Sabha can recommend works within
their state of election.

3.In the event of “Calamity of severe nature”
in any part of the country, an MP can
recommend works for the affected district.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 1 and 2 only

(c) 3 only

(d) None of the above
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Y d@uiue & deu o, Fafataa syl
Wﬁﬂﬂ?ﬂﬁl‘(’:

1.f5 e G5 & o fovg sifoy A &
uﬁwr%wqwmﬁwﬁ
Usdie |

2dfuRye fed wU 9 & Ui
STRER B @ | T

3. BIS FAAl Sl Tieh JHT BT TS ©, I AoTFHT
# S 3R ITS! HEAET § YT T Bl
B R BT B, Afb I8 AdaH &1 MBI
TEIBIaTE |

IWad FU A Y PH - AT ST ]/ 82

(a) PId 1 3MR 2

(b) Fad 1 3R 3
(c) Pad 2 3R 3
(d)1,23R3

Tiae R &F fdPr™T aie< (MPLADS) &
e A, Fufafad su=1 «R faar Fifkve -

1. gg Il fAeT Harerg & 3refiA § |

2. AHIHT 3R ITIHT & HAHIT Jod 3T
Wm%%ﬁﬁmmm
|
3. SR & ot off o F ivfR gl ot s
ot fRUfa 7 e g uuifaa fSra & e sraf
P RIGIIRE B ghd1 |

IWad HYTN A A PH - AT LT & /82

a)dhad 1
b)Pad 1 3R 2
c)®ad 3

(
(
(
(d) ITad & ¥ HIS T
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Consider the following statements about
the office of Governor:

1. A Member of the Parliament cannot be
appointed as Governor of a state.

2. The governor shall make rules for the more
convenient transaction of the business of
the government of the state

3. Governor appoints the Advocate General of
a state.

Which of the statements given above are
correct?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

With reference to the elections of the Vice-
President, consider the following
statements:

1. The voting is done through open ballot
implying that parties can issue whips to
their MPs and anti-defection laws apply.

2. Unlike Presidential elections, MLAs do not
vote in these elections.

Which of the statements given above is/are
correct?

(a) 1 only
(b)

(c) Both 1 and 2
(d) Neither 1 nor 2

With regard to curative petition, consider
the following statements:

2 only

1.1t is filed after the review plea against the
final conviction is dismissed.

2.It is mentioned
constitution.

under the Indian

3.1t is accepted only when the bench of five
senior-most judges approves it.

Which of the statements given above is/are
correct?

JATF CET- 21

58

59

60

ISUUTA & U & T H |, FuferRaa sy
Wﬁﬂﬂ?ﬂﬁl‘(’:

1. TP G9¢ 9ol &I fhdl Iog o 90T &
=Y # Fged T8t o o e B |

2. 99T oG RBR & 3D

o1 Tare g 9 SR |
3. ITUT T & HTgad &1 Fgfad sarg |
S e A A BT - I /8 2

(a) PId 1 3R 2

(b) HId 2 3R 3

(c) Fad 1 3R 3

(d)1,23R3

¥U I

& fataa & deu ¥, fufafea
HYAI R IR Hifeme -

1. AdeH Qo AdUS & J1EH I g & et
3 g % 3@ e wiwel &l fRu IRt R
TP ¢ IR goraed [RIEh HTH AR B¢ |

2. & fated & foudta, faurms =7
EESHEENERCEA
S P A A B/ T - TR &/2
(a) Had 1
(b) Had 2
(c) 1 3R 2
@TA1T82

SRS it & e o fAafafea

HYF R faR Fifene :

1. g 3ifam R F favg TRiewn it
WIS 81 & 918 SRR &I et § |

2. 3BT HRAT Tfae & 3idifa Ieeg fopar
g |

3. I8 Ud akgad iRl & fie gRI Wield
iR R PR B o B |

ST FUTN AT PH -/ T AR/ 8 ?
(a) had 1
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2.It promotes
government

4.1t reduces
communities

3.t has an

a) 1 only
b) 1 and 3 only
c) 2 and 3 only

(
(
(
(d) 1,2 and 3

In a democracy an intelligent sharing of 61
power among legislature, executive and
judiciary is necessary. In this context,
which of the following arguments favour
sharing of power?

1.It ensures the stability of political order

people’s participation in

3. It reduces the possibility of arbitrariness

conflict among diverse

Select the correct answer using the code given
below.

(@) 1, 3 and 4 only
(b) 2 and 3 only
(c) 1 and 4 only
(d)1,2,3and 4

Consider the following with regard to 62
constitution of collegium system:

1.It was introduced in the Second judge’s case

in 1993.

2.The third judge’s case expanded it to a 5

member body including the Chief Justice of
India.

official secretariat which

prescribes the selection criteria.

Which of the statements given above is/are
correct?

(a) 1 and 3 only
(b) 2 only
(¢) 1 and 2 only
(d) 1 only
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(b) Fad 1 3R 3

(c) I 2 3R 3

(d) 1, 2 3R 3 FAgfafad
dwaa A faulRer | sdfufeer iR
qUIa®T & o9 fad &I

U awgs ¢ | 39 ded &, Fufafaa
A q DI - T db JIT S TgHISH BT Y&k g
?

1.78 oT1cies a1 Bt FRRAT AR Srar ?
|

2,98 WHR H a7 Bt Hfie) &1 sgrar S g
3.98 FTAM! B GG B! HH HRAT R |
4.7 faftre Tl & s Tud HH HRAT§ |
- faT 71T e 1 TanT BR HEl IR YA |
(a) Pad 1, 3 3R 4
(b) HIA 2 3R 3
(c) Pad 1 3R 4
(d) 1,2,3 3R 4 YR

HIASTIH YUITel! & T4 & Aoy H fAgferfad
R foaR #ifoe

1. 1993 H Ydve ofdl HY o AT T JAUTT e
T T |

2. Y3 o ¥ - HRd & T A= Afgd 5
ey e H 39T fawar foar |

3. 99 HHGS] B FMuiRd B 8 ST Th
PR Ffared @ |

Sufed Byl | A BT TEl ]/ 82
(a) Pad 1 3R 3
(b) Had 2
(c) Had 1 3R 2
(d) ad 1
23



63

64

With reference to the Caretaker 63

Government, which of the following
statements is/are correct?

1. There is no provision in the Constitution of
India for a Caretaker Government.

2. President may ask the Council of Ministers
to continue as Caretaker Government till
alternative arrangements are made.

Select the correct answer using the code given
below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following:

1.Promotion of education and economic
interests of weaker sections

2.Provision for just and humane conditions of
work

3.0Organization of agriculture and animal
husbandry on modern and scientific lines.

4. Promotion of cooperative societies.

Which of the above Directive Principles of
State Policies can be classified as Gandhian
principles?

(a) 1 and 3 only
(b) 3 and 4 only
(c) 1 and 4 only
(d) 2 and 4 only
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Prdaed PR & Ao ¥, Fafafea sy
AJA P AT 8/ 87

1. YRd & Iy H HAdIEd WER &1 Dig
UMY -8l & |

2. yufd HEURYE J dpfcusd sawy iy oH
qP HHaEd WHR & ¥ U H §4 g4 Pl
3R TR IHAT B |

I faU TN e &1 TN R g1 SR gAY |

(a) Had 1
(b) Had 2
(c) 1 3R 2 gt
@I 1T82

frafefed w faar $ifse .

1. PAGR o Bt e R snffe fRal &t
UrTe |

2. B D I 3R THaId RN @1
TUTIYT |

3. SMYFP SR IS vonferdl § HiY SR
T[T T TS |
4. ggHR! aftfadl o1 dae |

SUad 9 & Aifd v dal § 9 D 4
Tieftaret Rigidl & U  arffgd T o1 aahd

(a) HId 1 3R 3
(b) %ad 3 3R 4
(c) Pad 1 3R 4
(d) Had 2 3R 4
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Consider the following statements with
reference to Biological Oxygen Demand
(BOD):

1. It is the amount of oxygen required for
microorganism to decompose organic
matter in the water.

2. Clean water has a greater value of BOD
than polluted water.

Which of the statements given above is/ are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Which of the following is/are the possible
consequences of deforestation?

1.Affects the local climate of an area by
reducing the evaporative cooling.

2.Increase in the rate of occurrence of floods
and droughts.

3.Increase in the underground water table

Select the correct answer using the code given
below.

(a) 1 only

b) 1 and 2 only
c) 2 and 3 only
d)1,2and 3

Which of the following best describes
biopiracy?

(
(
(

(@)It is the practice of trafficking both human
beings and animals to subject them to
experimentation of new drugs and
vaccines.

(b)It refers to the creation of microbes using
artificial techniques with a conscious
intent to spread terror.

(c) It refers to the cruel treatment meted out
to wild animals in the entertainment
industry.

(d)It is defined as a situation where
indigenous knowledge of nature,
originating with indigenous people,is used
by others for profit without their
permission.
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Sfd® SifRfls= AT ( BOD ) & g #

Frafafas 3= w faar Fifve
1. U8 9d H dreHe yad o fdufed &1 gq
gersital & fog STaxge SHTeRiSH & AT g |
2. Ugivd o Dt T W= od & BOD &I
U A BT |
ST FUTN A A PH -/ T AR/ 8 ?
(a) Had 1
(b) Had 2
(c) 1 3R 2
d)Tdr1 A8 2

fafafead A o= - a1/ @ Fdfeu s/ &
TUTfad R g/ ¢ 2

1. ITAHROT GRT BIF a1 AT Bl HH PRb
bl &7 Pt RIFT Taarg &1 THIfad &1 |

2. 916 3R Y@ P g1 DI &R & gfg g |
3. YfPRTd Sfeer ¥ 9f < g |
i faU TN e &1 TN R g1 SR gAY |
(a) Had 1
(b) Fad 1 3R 2
(c) Had 2 3R 3
(d)1,23R3

Fafafea A S o9-a1 T #1ad9y
qUIT HIATE ?

(a)Tg T8 SNERRY SR dat & wanT & ufqurht
9 & fore st SR uggaft G Bt Al b
aRUrA B |

(b) TG 3MTcih A B! ToId TR ¥ HHH qbAD
?Wawmaﬁwﬁﬁmﬂ'cﬁhw

|

()T TSI IENT H STl Sigaft & A1y fhu S
A PR TAER Bl T ffd Har

()3 T Rfy & w0 & afRkyiRg fbar orar @
e S=e ATl o S g aTel Ui o =Iel
I DT SUIART 3= AN GRT 3T A &
o oy & forg fpar ST |
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Which of the following is/are the barriers
to Good Governance?

1.Excessive centralization and policies and
action plans.

2.Low levels of compliance of rules by the
citizens.

3.Ineffective  structure of
evaluation systems.

performance

Select the correct answer using the code given
below.

(a) 1 and 2 only
(b) 2 and 3 only
(c) 3 only

(d) 1,2 and 3

Which of the following committees are
related to police reforms in India?

1. Ribero Committee

2. Naresh Chandra Committee
3. Padmanabhaiah Committee
4. Malimath Committee

Select the correct answer using the code given
below.

(@ 1, 2 and 3 only
(b) 1, 3 and 4 only
(c) 1, 2 and 4 only
(d) 2, 3 and 4 only

Consider the following pairs:

E-Governance : Initiative Objective

l.e-Pramaan Electronic delivery of

government services

2.MeghRaj Discrete cloud computing
service

3.e-Kranti National e-Authentication
service.

Which of the pairs given above is/are correctly
matched?

(a) 1 and 2 only
(b) 2 only

(c) 1 and 3 only
(d) 1,2 and 3
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(Good Governance) % "Rl A
ﬁn;r%@aﬁ@rﬁq Gt q1eT 8 / 919TE §2

1.3(TYH HEIBRUN 3R Aifadi Td B T |
2. A TR gRT FAgH} o 3T &1 9 TR |
3.fwre geaie ugfadl &t sy} ST |
+Idl 3T 7T e &1 T AR ol SR g |

a) Had 1 3R 2

(b) HId 2 3R 3

(c) Had 3

(d)1,2 3R 3

Fafafes & @ o= @ afafoar yra o -
T gUR | Haftd 82
1. fe]y wfafa
2. Y dg FiAfd
3. TEATHaT S
4. TTAAY FiHfd
2 U 7T Be &1 9T HR TE IW AT |
a)Pad 1,2 3R 3
b) Had 1,3 3R 4
c)Pad 1,2 3R 4
d)PHaa 2, 3 3R 4
g - WA Ugd IR
1.3 — JHm0 BT Jarft o
ENCSIBCAARNIER
2. TeRTSl JUYP FATIS H[T Jal
3.3-wifd AT - GEICSR ol
S A A A -1/ AT AR R /8 2
a) Had 1 3R 2
(b) had 2
(c) %ad 1 3R 3
(d)1,23R3
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In the backdrop of Protection of Human
Rights (Amendment) Act, 2019, consider

the following statements about the
National Human Rights Commission
(NHRC):

1. A person who has been a Chief Justice of
the High Court is also made eligible to be
appointed as Chairperson of NHRC.

2.Recently, Chairperson of the National
Commission for Minorities has also been
made an ex-officio member of the
commission.

Which of the statements given above is/are
correct?

(@) 1 only.

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements with
respect to Consumer Price Index for
Industrial Worker (CPI-IW):

1.The Base year for the Consumer Price Index
for Industrial Worker (CPI-IW) is 2016

2.CPI-IW is compiled and maintained by the
Ministry of Labour & Employment.
Which of the above statements is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements with
respect to World Economic Outlook:

1.According to report, India’s (GDP)
witness a contraction of over 10%

will

2.It is a survey released thrice a year by
International Monetary Fund

Which of the above statements is/are correct?
(a) 1 only.

b) 2 only

c) Both 1 and 2

(
(
(d) Neither 1 nor 2
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AT feR W&o (e ) sifefas
2019 BT YEYA A, HATATBTR ST
(NHRC ) & qay | FYEI R faarR

1. DI Al S I AT BT G T
TR, 98 Hi NHRC & 3ieer & & & Figed
fpq o & forg aifda &= fear man g |

2. BRI H , AT SUEAD TN b S DI
I 9 31T &1 UG Ya®I §HEn T

ST FUTN AT P -T/ T AR/ 8 ?
(a) Had 1
(b) Had 2

(c) 1 3R 2 gt

d)Td 1982

3N 4ffre (CPI-w) & fre Suier gea
gﬂ?ﬁ%ﬁa‘aﬁﬁaﬁ@aﬁuﬁwm

1.37=NM® 4l (CPI-Iw) & e IuHiaar gea

qIHiH F T SnyrR oy 2016 B

2. CPI-IW 47 3R ISR HATHT gRT ebferd
3R IR B

IRIad HYAT T S AT 8 g/ 82
(a) Had 1
(b) Had 2
(c) 1 3R 2 gt
(d)Tdr13RAG2
fay onfde smeeqe & way o fFafafad
HYFI UR &1 ¢
1.ROE & 3ER, YRd &1 (GDP) 10% ¥ 3{fIdH
BT AHad gHT|

278 3 DY ¥ § fF IR
IWRIad HYAT T A S AT 8 g/ 82
(a) Had 1
(b) Had 2
(c) 1 3R 2
(d) T 13RAE2
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In India, the sectors where FDI is not
allowed are:

1. Investment in Chit Funds

2. Tobacco industry

3. All Agricultural or Plantation Activities

4. Satellite and its associated activities
Select the correct answer code:

(@1,2,3

(b) 1,2

(¢ 1,2,4

d)1,2,3,4

Government announces minimum support
prices (MSPs) for which of the following
crops

1. Jowar

2. Raw cotton
3. Coffee

4. Copra

5. Soyabean

Select the correct answer code:
(@1,2,3,4

(b) 1,2,5

(c)1,2,4,5

(d)1,2,3,4,5

Consider the following statements with
respect to Budapest Convention:

1.It is the sole legally binding international
multilateral treaty on cybercrime

2. India is not a party to this convention.

Which of the above statements is/are correct?
(@) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
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yRa ¥, 5 & o FDI Y srqufa A ], 3 ®:
1. foe e & Faw

2. a1 e

3. It SN a1 gemRrmor mfafafemt

4. JedTge 3R ITY oS! Mfafafert

ol IR IS BT TI DY;

(a)1 2,3

(b) 1
(0)124
d)1,2 3,4

weR fufafae vaal & ¥ feue e
a9 YT T (MSP) 1 S9N $HRedl @
1. SR

2. Hl HUN

3. BIHT

4. DU

5. QRATe

Tl SR DI P a9 B

(@)1,2 3,4

(b)1,2,5

(€)1,2,4,5

(d)1,2,3,4,5

YSTURE H-43F & ey ¥ fAufafead sy w®
foaR ¥

1.98 URER ARY R THAF S €0 I
SRR SfeRTg agueii §fe
2. YRd 39 R &1 U&HR -8l g

IRIE BUT H A BT I TG 2 /72
(@) %r«m
(b) Pad 2
(c)1ah"\f2a=ﬁ
(d)Tar13MRIE 2
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Consider the following statements with 77

YIP gou Jadie & gay # it syl

respect to Wholesale Price Index: W IR o3
1. It is published by the Office of Economic 1.8 41y AR I HAE & o
Adviser, Ministry of Commerce and JAlgh R P HITEY GRT PEAIRGRERIESIGI %|
Industry.
2. The baI:; year of All-India WPI is 2004-05 2.3 TR WPI T SR T 2004-05 %
Which of the above statements is/are correct? SR FUAT H F B “3?)[ % / %?
(@) 1 only (@) I 1
(b) 2 only (b) e 2
(c) Both 1 and 2 (c)1 3R 2 G|
(d) Neither 1 nor 2 (d) T4 1 &ﬁq:{é’[ 2

Which of the following statements is not 78
true with respect to Lilavati Award-2020:

HaTad! REPR - 2020 & dey ¥ fafafad

T A B T HYF T8 e &

(a)78 fage iR Wenfiiet Tty gRT wiftd
foar mar 8

(a) It is established by Ministry of Science and
technology

(b) The award covers multidisciplinary areas

79

such as women's health, self defense,
sanitation, literacy, entrepreneurship and
legal awareness.

(c) The program will ensure the participation

of women and enable them to hold higher
positions in educational institutions.

(d) The award has been named after the 12th

century book called “Lilavati”

Consider the following statements with 79
respect to Inner Line Permit (ILP):

1.1t is a document that allows an Indian

citizen to visit or stay in Arunachal Pradesh,
Mizoram and Nagaland.

2.Its origin dates back to the Bengal Eastern

Frontier Regulations, 1873.

Which of the given statement/s is/are

correct?
(a) 1 only
b) 2 only
c) Both 1 and 2

(
(
(d) Neither 1 nor 2
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(b)TE REPR ARGl & WA, SMERET,
WA, TIeRdl, IgHAAd 3R
WREhd] O &g &3 bl HaR Bl g

(o FTIery Higarsii @ HrfteRt gfad B ek
gﬂﬁwwﬁ' [ A 3= Uel R Wa § g

|

(d)SH YIXHR &1 1 12 df dlsdl Bl J&ih
"Hrad” & TTH IR 3@ T 8

3R @39 WRf¥e (ILP) & day ¥ fAufafaa

HYFI R TR B

1. U TP S&IOW g Sl Th HRAT ANRS Bl
SRV U T, fIeiRA iR ArTds § 9 a1
T8 BT SgHfT ST B

2§s§a§wﬁrwﬁ¥ﬂmﬁﬁm 1873 9
|

RuMeYT A AP AL 2/ 82
(a) Had 1
(b) Fad 2
(c) 1 3R 2 g
(d)Tar13MRIE 2
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UNSC Resolution 1267 Sanctions 80
Committee is associated with combating
which of the following?

(a) Terrorism

(b) Poverty

(c) Hunger

(d) Female foeticide

Consider the following  statements 81
regarding Epidemic Diseases (Amendment)
Bill, 2020 which was passed recently:

1. The legislation makes harm, injury, hurt or
danger to the life of health care service
personnel as a cognizable and bailable
offence.

2. It has provisions of imprisonment from 3
months to 1 year
Which of the above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following  statements 82
regarding Ease of Doing Business (EODB)
Rankings.

1.The World Bank publishes a Doing Business
Report, which carries the Ease of Doing
Business (EODB) Rankings.

2.From 2014 to 2019, India has improved its
ranking by 100 positions.

Which of the above statements is/are correct?
(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

JATF CET- 21

UNSC Hoeq 1267 Ufasy afifa fRafafaa &
 frg A 91 22

g MR I (WRIYE)  §HR, 2020
IR A fufefad sy R ==f &=ar
2, o g1 & & uiia ¥ mam am:

1. T8 faum T & SRM Wy i &)
IHYH, dIc, b SiaT & WaX & Hd Pl
T T IR- SH ORI ST &

2. 398 3G q 1 1T a0 ! e, T WaUMH &
SRIGd H S AT IE 8/ §?

(a)%?H

(b) Pad 2

(c) 1 3R 2 g

(d)Tar1 3R 2

391 3T 57 fawm9 (EoDB) ¥fHT & Tk &

frafefad syt wR faar #31

1. fay 9% 39 i g foom RUid yaiRig
AT & S 591 M GeT foomg b o
ERIGI]

2. 2014 ¥ 2019 dh, HRA 7 3T IHT H 100
uel & gUR a1 31

IWIgd FYN A A S AT TS 8/ 82
(a)%?H
(b) Pad 2
(c) 1 3R 2 g
@)A1 3MRTE 2
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Recently, a new study by Johns Hopkins
Medicine researchers suggests that
blocking a human protein factor D may
reduce the deadly inflammatory reactions
that many patients have due to COVID-19.
What is the basic function of Factor D
Protein?

a) Blood clotting
b) Clear pathogens from the body

c¢) Builds muscles in the body

(
(
(
(d) Burns extra fat in the body

Consider the following  statements

Regarding Pradhan Mantri Krishi Sinchai
Yojana:

1. It is a state sponsored scheme.

2. One of the objectives of the scheme is to
enhance recharge of aquifers.

Which of the above is/are correct?
a) 1 only

b) 2 only

c) Both 1 and 2

(
(
(
(d) Neither 1 nor 2

“Carbon neutrality” refers to:

(a) Thelong-term removal, capture or
sequestration of carbon dioxide from the
atmosphere.

(b) Achieving net-zero carbon dioxide
emissions by balancing carbon dioxide
emissions with carbon absorption.

() Achieving negative carbon dioxide
emissions by increasing the carbon
absorption and measures such as
afforestation to remove carbon dioxide
from the atmosphere.

(d) Removing carbon oxide from the

atmosphere and then storing it.

Consider the following statements with
respect to Doklam:

1. Doklam trijunction is the point where the
borders of Arunachal Pradesh in India,
Bhutan and China meet.

2. It is surrounded by China’s Chumbi Valley
to the north, Bhutan’s Ha Valley to the east
and India’s Nathang Valley to the west.
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gTa 8 § w9 grufe-a AfSRA meusats
R f$T U Usp AT Ay | udr gadr g
AFd WdH BRP D &l 3AvG I o
COVID -19 & HRUT giF aTell UTdd HSHIS
wfafsear 49 8 9ot 3| ez D M 1 qa
ST T 82

(@) YT P YIP |

(b) TRR W INTSHD! DI JTH B

(c) TRR H ArafRr &1 fAufor Har ]

(d) IRR # HfafRed a1 SIaar g

guE WA pfY R e F A #
fFrafafad syt w faar «v:

1. I8 o4 UTord Ao g |

2. W BT U I USIHY (Sade! W) &
=S & SgHT B

IWIFd H A D AT TSI 8/ 82
(@) Had 1
(b) Pad 2
(c) 1 3R 2 g
(d)Tdr13MRIE 2
T dexydr I daread g

(a)TIHET ¥ BT SISHRZE HT GrUdIID
, el T 3 |
(b)PTEA AT & Y BT STS3HFZS
oA P Adfd b G- Bl
SRATRIRS I Bl YT HAT

(QFPTE TIMYU B TGTHR ABRIHD HIa
SRIAITRIES ITod P U BT 3R
qTATARUT & HTe- SIS3HISS Bl g & oy
IHRUT S IUT |

(d)TIHET ¥ HIa 3HdAZS Bl geldR
o] q—iSRUI OPQCII%I
%m%wuﬁﬁaﬁr@aﬁuﬁwm

1. Sipam By a8 [§g § 96T URG, Yo 3R
I P ST TR | AT et
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3. India claims it is at Batang La, China
claims it at Gymo chen.

Which of the given statement/s
incorrect?

is/are

(a) 1 only
b) 1 and 2 only
c) 3 only

(
(
(d) None of the above

Consider the following statements with 87
respect to exceptions under the Anti-
defection Law:

1. The law allows a nominated member to
join a party within six months after he
becomes a member of the legislature.

2. The law allows a party to merge with or
into another party provided that at least
one-third of its legislators are in favour of
the merger.

3. The law allows an independent candidate
to join a political party within six months
after the election.

Which of the given statement/s is/are
correct?

(@) 1 and 2 only
(b) 1 only

(c) 2 and 3 only
(d)1,2and 3

Which of the following are the objectives of 88
the “National Digital Communications
Policy”?

1. Broadband for all by 2022.

2. Creating 10 Million additional jobs in the
Digital Communications sector

3. Enhancing the contribution of the Digital
Communications sector to 8% of India’s
GDP from 6% in 2017.

4. Ensuring Digital Sovereignty.

Select the correct answer using the code given
below:

(@ 1,2and 3

JATF CET- 21

2. 98 IR T I &1 gl °u1et, gd § Y™ Bt g1
aﬁgﬁvq@ﬂﬁwaﬁmmamﬁm
g gl

3. HRA dIe@a g fp gg aremar d 8, I 3 grar
fpur {5 gg S s R &1

R A A A/ T T8 2/ 82

(@) Had 1

(b) Fad 1 3R 2

(c) 3 Pad

(d) SIRIGd & I DS ol

gaded fRIth S & agd Judrgl & day
¥ fFafafed sy w faar a::

1. B T AT I B [GUTiRIsT &1 Fad

1 & 91 T8 Ho M & Hidr U urdf & wnfaa
AR RGINEGIR

2. BT U ISt o a1y 1 fopdt o= uret & faa
FR- P AN <l & SR b P BT I
&1 Uh-fagTs fauraes faaa & ue o 8|

3. B T Wi ITIGIR Bl 19 & dIc B8
e & iR Te Jeifde urel § miid A
1 AR TAT R

Rum e i I oI uE g/ 8?
(a) 1 3R 28
(b) 1 had
(c)2 3R 38
(d) 1,2 3R 3
ffufafea 4 @ o9 < fea @R
fife & IE=a ¥
1. 2022 a% Tt & fore sTess |

2. fefoea darR &3 o 10 fferms sifafked
Tt Ut BT

3. 2017 ® HRd & JHd g 3@ H f3fred
AR &3 & ANTGH B 6% I 8% qP SGHI|

4. T&iSTee AUy GRigd BT

i AU TN PIe &1 ITAT B ol SR -
(@) 1,2 3R 3
(b) 2, 3 3R 4
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(b) 2,3 and 4
(c) 1,3 and 4
(d) 1,2,3 and 4

Consider the following statements
regarding “Social Progress Index”:

1. It is compiled and released by World
Economic Forum.

2. The index is based on three dimensions of
social progress, basic Human Needs,
foundations of Wellbeing, and opportunity.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Which of the following country does not
border Yemen?

(@) Saudi Arabia

(b) Oman

(c) United Arab Emirates
(d) All of the above

Consider the following  statements
regarding ‘E-Sanjeevani’.

1.‘E-Sanjeevani’ is a web-based

comprehensive telemedicine solution that
provides specialized healthcare services to
masses in both rural areas and isolated
communities.

2. ‘E-Sanjeevani’ can also be used to provide

medical education to interns and people
across various Common Service Centers
(CSCs).

3. It caters to numerous medical specialties
like Radiology, Cardiology and Gynecology

Which of the above statements is/are correct?
(@) 1,2
(b(1, 3
(¢) 2,3
(d1,2,3

JATF CET- 21
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(c)1,33R4
(d) 1,2, 3 3R 4

"AITS WIfd JEdie” & ar § Fafafed

HY R faaR a9

1.%1%%%%%@1?7%%@?6@%&1
T

2. Db AN WIfd & diF Ml W
sty 8, HMd @ gl
ARG AT, HRIAEH BT YR F SR

IR UM BT A IS T IS 2/ 82
(a)%?H
(b) Pad 2
(c) 1 3R 2 gt
(d)Tar 1 3R 2

Frafafaa 9 @ &9 a1 3 gu= ) dur 98
IGdT 872

(a) TSl 3RS

(b) S

(c) T 3RS HRTT

(d) SR gt

'E-Sanjeevani’ ¥ Uy # frufafea sy w®
AR ®91

1.5.-gella-l TP Jq9-3YRd TS
ARSI FaTe € ST T & 3R 3ra-

%I?FT e # faRiy Wy Jd1 UeH &Rl
|

2. % -Holtg=" &1 IuanT fafts g Qa1 Hal
(CSCs) H ufRregaft 3R it bt fafdsear fRem
T B & forg off foban o gpar 1

3. g JSTrdron, BrSararol 3R Tl IT S}

o3 fafran faRkwarsi & W exar g
SRITd FUT A Y HT I TET 8 / 82

(a)1 2

(b) 1
(c)2 3
d)1,2,3
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Consider the following  statements
regarding the Immunoglobulins (Ig):

1. These are proteins made by the immune
system to fight foreign antigens.

2.Immunoglobulin G (IgG) is the most
abundant type of antibody in human body.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

The ‘Maitri Setu’ has been built on which
of the following river?

(a) Sankosh River
(b) Feni River

(c) Manas River

(

d) Kameng River

Which of the following is/are correctly
matched?

1. PM-SVANidhi - Collateral free working
capital loan to street vendors

2. Aatmanirbhar Bharat Rozgar Yojana -
Reduces the financial burden of the
employers

3. Pradhan Mantri Mudra Yojana — Loans to
micro/small business enterprises and
individuals

Select the correct answer using the code given
below:

a) 1 and 2 only
b) 2 and 3 only
c) 1 and 3 only

(
(
(
(d) All of the above
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SRATAIGH (Ig) & day ¥ fArafafad syt

R faaR &3

1. ¥ yfore gomel g1 fad=h ¢doq ¥ @ &
T ST T T §

2. SR G(IgG) HIMd TRR H e TR
UHR &I Tdlerel g

SR RUM YT A I S AT AL & / 82
(a)%?ﬂ
(b) Pad 2
(c) 1 3R 2 &Mt
(d)Tar 1 3R 2

B Ay Fufafea o ¥ fea 76 w® s 9m
T 872

?ﬂ%@mﬁﬁﬂ%ﬂmaﬁéﬂﬁﬁﬁﬁmn%/

?

1. Nen-ggaifAfy - e I &) idea W
gipTT Hfted A

2. AR HRT ISAR AT - Faiadnstt &
oo g B FH BN

3. TYUTTHA! Gl I - G&H / Y a9 S
3R fFTl BT BT

i faU U P18 &1 ST T gl SR g

(@)1 3R 28
(b) 2 3R 3 &t
(c) Pad 1 3R 3
(d) SIRIad T+t
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Consider the following statements.

1. National Food Security Act, 2013 (NFSA)
provides a legal basis for the public
distribution system (PDS).

2. Commission for Agricultural Costs & Prices
(CACP) that recommend minimum
support price (MSP) is a statutory body set
up through an Act of Parliament.

3. Sugar cane pricing is governed by the
Sugarcane (Control) Order, 1966 issued
under the Essential Commodities Act.

Which of the above statements is/are correct?
(@1,2

(b )1 3

(c) 2

(d)1,2,3

How is the National Green Tribunal (NGT)
different from the Central Pollution
Control Board (CPCB)?

1. The NGT has been established by an Act
whereas the CPCB has been created by an
executive order of the Government.

2. The NGT provides environmental justice
and helps reduce the burden of litigation in
the higher courts whereas the CPCB
promotes cleanliness of streams and wells,
and aims to improve the quality of air in the
country.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Which one of the following statements is
correct?

(@ In India, the same person cannot be
appointed as Governor for two or more
States at the same time.

(b) The Judges of the High Court of the States
in India are appointed by the Governor of
the State just as the Judges of the
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Frafafed sy w R #3
g G 3MUFEH, 2013 (NFSA)
faaror yumett (PDS) & oW ST
YR TG R 5
2. HY AT SR eI 3N (CACP) St gAaH
T4 geg (MSP) &1 R &-d &, ¥9e
%@%mmﬁa@aw%mﬁﬁ
e Bl

3. T e FFefRoT 7T (FRion) $1e=T, 1966 T
gnawaﬁ&ﬁirﬁuﬂ%a%awmw
|
IRITd HU A Y P I TET 8 / 82
(@)1, 2
(b)1,3
()2, 3
d)1,2 3

ERECRIE]
9 (cPCB) ¥

1. NGT U& 4w gry wifod foear mar §
Sefp CPCB WRPR & Th BIBR! S
GRI ST T B

2. TSI YgfaRul <O Yo oRdl 8 3R 3
Tl B ghcHdrs & aig I HH H 4
e T § ol Jrdiiet eRraif 3iR paft
B BTS B! Feral T &, S?IT?B‘&TﬁBHTaﬁ
o GUR AT

SR MU BTN A I DT AT I 8/ 82

(NGT) Fsig uguur fg=ror
3T 82

fFrafafa & Q F19 91 vy 98 82

a) HRd H, Td 5! Afad I T ol QT H o1 AT
3Hf¥% Il & o IsauTd & FU H fFgad
T} foran ST g B

(b) HRd H Il & I AT b AT
DI AT & oAU gRT Fged far o ¢,
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Supreme Court are appointed by the
President

(c) No procedure has been laid down in the
Constitution of India for the removal of a
Governor from his/her post

(d) In the case of a Union Territory having a
legislative setup, the Chief Minister is
appointed by the Lt. Governor on the basis
of majority support

Consider the following statements with
reference to the Right to Protection of
Interests of Minorities under Article 29 of
the Constitution of India:

1. The scope of protection under this Article is

restricted to religious and linguistic
minorities only.
2.1t grants immunity against the

Representation of the People Act 1951 to
make  political  speeches for the
conservation of the language of a section of
the citizens.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Which of the following committees/
commissions were formed to examine the
issues of Center-state relations?

1. Punchi Commission
2. Sarkaria Commission
3. Malimath Committee

4. Rajamannar Committee

Select the correct answer using the code given
below.

(@) 1 and 2 only

(b) 2, 3 and 4 only
(c) 1, 3 and 4 only
(d) 1, 2 and 4 only
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oY {3 walw e & =aranefiRn &1 Iyufa
eR1 fAgad fear Smar g

(c) YRd & Wfgyr # fhat Isau1d &1 9% Ug
J g B Bi uigpar RufRa Bl e 8

(d) TP Pz AT U H T fAurft Jesig g
ot T o, geE @ SWsaua gRI
g@%ﬂnﬁqéeﬂwwﬁwmw

HRAg dfau= & 29 & 3Idfd
IR P Tl & fgdl & &MU P ARPR S
e o, fFufafad syt wr fagrR #if :

1. 3 3fTde P fcld AR BT IR Haa
yTftfep 3R HINTES 3eUseae| do it g |

2. g MR & Teh I BT HINT & TR&UT & o
ISHIfdE HTYUT ¢4 & fauw e gfaffia
T, 1951 & 4o ufaRan UgH HRar g
|

S s A A B - T/ AqH /82
(a)bdd 1

(b)dad 2

(c)13MR2aHl

(d)sdi1,9812

Pz - Tg et & gel &1 wev 19 & e
frafafaa & @ fea afafaal / smaen &1 1=
far war ur?

1. GBT SMRNT

2. TREBINAT STNT

3. oy giufd

4. JSTHAR g

i faU U e &1 YT R gl IR AT |
(a) Had 1 31R 2

(b)Pad 2,3 3R 4

(c)Pad 1,3 3R 4

(d)Pad 1,2 3R 4
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100. Which of

101.

102.

103.

the following Cabinet 100
Committeeis headed by the Union Minister
of Home Affairs?

(a) Appointment Committee of Cabinet

(b) Cabinet Committee on Accommodation
(c) Cabinet Committee on Economic Affairs
(

d) Cabinet Committee on Political affairs

Direction for the question no. (101-103):
Read the following information and answer
the three questions that follow:

A group of individuals is standing in a
horizontal row. There are four individuals
standing between A and B. Position of C is
seventh to the left of A. Number of individuals
between C and D and D and B are equal. A is
standing exactly in the middle of the row and
D is not the immediate neighbour of A.

Which of the following statement(s) is/are
false?

101.

1. Position of B is third from one of the
extreme ends.

2. Position of A is eighth form extreme right
end.
(@) Only 1
(b) Only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

If E is standing fourth to the right of D,
thenhow many persons are standing to the
right of E?

(@) 8
(b) 9
(c) 10
(d 7

What is the number of individuals in the 103.

group?
(a) 13

(b) 14
() 15
(d) 16

JATF CET- 21

102.

Fdg 75 W Fafafaa o 9 fFa faAe
Tftfa & sregerar Har g 2

(a) Fgfaa Teeh wfane aftfa ot

(b ) 3Ma et Hfge afafa ot

(¢ ) 3Mfdes A TR Sfaae afifa o

(d) ASHifde AHA! IR biade gfafa &

U8 (101-103) & fore FArdw

Fafafad Rl o) ufer 3R 39 3mY 3 ard
& s & IR R

$3 iG] &1 U g Afas il A @e18 1 A
RBPATIRAGITS € | C, A Y T¢I
VMR TSTE | C 3R D, TUTD 3R B P AL TS
feTal ot T A B | A Ul | Sl 7em |
WSIE 3R D, AP 31 U T8l TSI § |
fFrafafad sy= (@) A o4 - a1/ 3 T8 78
g/8?

1. 3P RN TH SR & Tad sifan T g |
2. AP RUfa SR R & Ia 3ifar T el gl

(a) PAd 1
(b) Pad 2
(c) 1 3R 2 Gl
(d)Far1, 82

IR EDFSUVANIVHARE, A E P IS
3R fora sufed @2 82

a
b
c
d

39 9Yg A aufeaal &1 = frd-t 82

(@) 8
(b)9
(c) 10
(d)7
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104. Consider the following Statements and

Conclusions:

Statements:

S1: Only Graduates are Clerks.

S2: Some Graduates are Officers.

S3: Some Officers are Scientists.
Conclusions:

I. No Clerk is an Officer.

II. All Clerks being Scientists is a possibility.
III. All Officers are Graduates.

Which of the above conclusion(s) can be
drawn from the given statements?

(@) I, II and III

(b) Only I and II
(c) Only 11

(d) Only II and III

105. In an examination out of total participants,
40% failed in quantitative aptitude and
30% failed in reasoning. Consider the
following statements:

1. 20% failed in both quantitative aptitude
and reasoning.

2. 40 participants passed in only quant.

To find the total number of participants

(a) Statement 1 alone is sufficient.

(b) Statement 2 alone is sufficient.

(c) Statement 1 along with statement 2 is
sufficient.

(d) Both statements 1 and 2 together are not
sufficient.

106. Comnsider two statements S1 and 82

followed by a question:

S1: Point K is 10 metre south of R. Point T is
15 metre east of R. Point V is 12 metre north
of P.

S2: Point P is 6 metre east of Q. Point M is 15
metre west of V. Point Q is 20 metre south of
T. Point K is in which direction with respect to
Point M?

JATF CET- 21

104.
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106.

fafafRad syt ik fAsepul wr faar Fifve

FUYT

S1 : Had Hd® fAfH ¢ |
S2 : B WAd HABRIE |
S3 WWW%I
frepd

1. T off forftes Srfremd

11. gt farforept & agTfeIes 819 o1 AHTTaT 8 1 10
T+t SRR e §

feT MUy Suded # ¥ B - @1/ ¥ ey

feTa o Topdi § / FeTa o gohd 82

()1, I 3R III

(b) PId 1 3R 1I

(c)Pad II

(d) PaA 11 3R III

foedt wdienm o oo ufawfl & & 40 %

wifecfea wiegs v 30 % fwf+r A srxiiof

gl e | FAfEfafed sy = faar sifee

1. 20 % Hifceled Wiegg iR i, g &
RN

2. 40 UfayTft Faa wifeefea ey o il
Ui &1 e TReaT AT HIfoT -

(a) PAA HYT 1 TN G |
(b) HIA HYF 2 T |
() PYT1H A FHYT 2 U 7 |
(d) FYT1 3R 2 G T T B |

A HYAT S1 3R 52 W AR Hifee sk 39
3T 3T aTet Uy T IR SIS |

s1:figK, R0 Hicx g A Ryag Ifdg T
 RY15HMRIEAREAR Iffg Vv, PR 12 R
FfREE |

s2:figpP, QF e Hcr @ A fRyag I figm, v
F 15 W U A R g | g Q, T & 20 HieR
RurAfREe | figk, fig M3 fpa femm & &7

I faU U e &1 TN s Tl IR AT :
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108.

109.

Select the correct answer using the codes
given below:

(a) S1 alone is sufficient

(b) S2 alone is sufficient

(c) S1 along with S2 is sufficient

(d) Both S1 and S2 are not sufficient

Six square boxes are printed on front and
back, with six, letters Q, W, E, R, Tand Y
and are hinged together as shown in the
figure given below. If they are folded to
form to a cube, which letter would be
opposite to letter Q?

Q w
E R T
Y
()Y
(b) E
(€ R
(dT
For mid-day meal program a school

requires a certain fixed quantity of milk,
which is provided by a milkman. When the
milkman packs the milk in the packets of
2 litres, 4 litres or 5 litres, one litre
remains unpacked in every case. But when
he packs it in the packets of 9 litres,
nothing remains. What quantity of milk is
ordered by the school?

(a) 21 litres
(b) 41 litres
(c) 225 litres
(d) 81 litres

In a half marathon conducted for girls,
after running for 30 minutes a runner was
informed that she had completed only 60%
of the marathon. How much more time was
the runner supposed to run in this
marathon?

(a) 50 minutes

(b) 25 minutes

JATF CET- 21
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(a) HId S1 TATT § |
(b) Had S2 TATI § |
(c)S2H I S1 TR |
(d) 1 3R 2 T Tafd & § |
B TPR I591 & 37 3R UTA U R B8
3&R Q, W, E, R, T 3R Y fiie fou wra & sik
37 A & ¥ emepfa # @ srpAR
qfeyd forar sirar € 1 afe 3% & v 991
> fore wice frar wig, @ 3reR Q & faudia
DI - T 3H&R MY?

Qa | w

E R T
Y

(@)Y
(b)E
(©)R
@)T
AHTg HiT aiT & fore U faermera &) gy

SUATA GRT SUAY HIGET ol § | o
QUATAT GY Y 2 e, 4 Alex AT 5 AR &
Tde # U a1 3 @ TP IR TP fiex gy
Y 99 14T 3 | AP o9 a8 9 e & UFe
T 3 U Har @ af oo W A & F=ar |
o gR1 g & fora=it T BT8R &1 g2

(d) 81 TR

asfeal & forg mafera T 81% AvTy= ¥ 30
fire s & SWid t® utad & gfua fear
T {6 I Had 60 % WRIIA T B 7 159
AU H Urad P foran 99 R e
U1?

(a) 50 fiFe

(b) 25 fie
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111.

(c) 20 minutes
(d) 40 minutes

In an over of 6 balls a batsman hits 3 110.

boundaries (four and sixes), takes two
singles and played a dot ball. Which of the
following cannot be the score of that
batsman after the over?

a) 20
b) 18
c) 16

(
(
(
(d) 12

In a cricket tournament A, B, C, D and E 111.

were S5 batsmen who scored different
runs.Consider the following statements:

1. At least three batmen scored less runs than
C.

2. Runs scored by C and that scored by the
lowest scoring batsman are less than that
of D.

To ensure which batsman scored the highest
runs

(a) Statement 2 alone is sufficient.
(b) Statement 1 alone is sufficient.

(c) Statement 1 along with statement 2 is
sufficient.

(d)Either Statement 1 is
statement 2 is sufficient.

sufficient or

Directions for the question no. (112-114):

Table given below shows the number of
students from four different schools who like
different fruits. Some like Mango some like
Banana and some like both. Read the given
information carefully and answer questions
that follow the table.

JATF CET- 21

(c) 20 fie
(d) 40 fiFe
6 Aal & TP 3R A TP Jeaarol 3 TEST (NP
3R TFPp) T 7, & River (U ) T @
3R i gid Qadr g | aR & 91 39
TedaTS &1 W Fgfafad # @ 19 - a1 78
gl gpd1 82

U fhde gAfice A, B, C, DR EA 5
goda ¥ o8l SIeRT - 3 39 §41T |
frafefad sy w faar Fifve

1. A Y FHH dF geadmel 3 C I HH A fhu |

2. CERISAN TN H IR e FHA T
IRIETS GRISAN MU A D A HHG |

T8 gFfdd oA & fore & frg aeciers gaifas
T TN

(a) PIA HYT 2 T B |

(b) FId HYT 1 8 T B |
C)PUT1HFIYHYT 2T § |

(d) TT A HYT 1 JaTd § AT HYT 2 Tl § |

Ul (112-114) & fe fAdwr .

I & 15 AT IR SrenT - S faeTerdt &
faenfidl &t e &I eIl § ST - ST B
M TG TXA § | $S DI 30 TS B Hdl TG
g R T P! gFl g € | & TFER B
Frayrgde afet SR aifaieT &d gy Ul &
IR AU B
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113.

114.

115.

116.

School | Total Percentage of | Percentage
number of | students who | of students
students like Mango who like

Banana
A 1200 60% 55%
B 1000 45% 65%
C 1500 80% 30%
D 1800 50% 55%

If the ratio of boys to girls in school ‘A’ is 112.

5:7, then how many girls of school “A” like
Mango?

(a) 300
(b) 420
(c) 720

(d) Cannot be determined

What is the ratio of the number of students
who like Mango from school B and the
number of students who like Banana from
school D?

(a) 75:98
(b)4:5

(c) 98 : 45
(d)5:11

Find the average number of students who
like Mango from all schools.

(a) 817.5
(b) 420
(c) 720.5
(d) 660

Ram has two bags, which may be green or
black. What is the probability that both the
bags are black, if it is already known that
at least one of them is black?

(a) 1/3

(b) 1/4

(c) 1/12

(d1

Rakesh was travelling from Mumbai to Goa.

After travelling 23 km from Mumbai, a
problem occurred in his car and its speed

JATF CET- 21

113.

114.

115.

116.

School | Total Percentage of | Percentage
number of | students who | of students
students like Mango who like

Banana

A 1200 60% 55%

B 1000 45% 65%

C 1500 80% 30%

D 1800 50% 55%
afe faemera A A dso! ok asfdal &1 3rqurd

5:7¢,d faenmag A &) feat asfear sm
QT NG HRAT § 2
a) 300
b) 420
) 720
d) Freffva 7Y foram <1 geman
faaera B & oW wRie v+ ara faenfal

=T 3R faened p & Far e HA ard
farenfat @Y Tem &1 ergura fraT @ 2

(
(
(c
(d)

(a) 75 : 98
(b) 4

(c) 98 : 45
(d)5: 11

g faemeral & oMy wie H3 are faenfiay
P 3N Hd =T FTd BT |

(a) 817.5
(b) 420

(c) 720.5

(d) 660

I & U &1 O § Sl 8 a1 BTdl 11 & g1 b
2 1 G AT & 1l T F 811 B wiRkpar |
2, IR IR ATt R A o
JNPIE?

(a)1/3

(b) 1/4

(c) 1/12

(d) 1

MBI Y3 | 4T BT AT B QT 4T | §as A
23 fft 3t a1 A F 916 TP PR A TH
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118.

119.

became 4/5th of its original speed. Due to
this, he reached Goa 50 minutes late. If
that problem had occurred after travelling
35 km from Mumbai, then Rakesh would
have reached Goa only 41 minutes late.
Find the original speed of car in km per
hour.

(@) 25
(b) 30
(c) 20
(d) None of these

X and Y are the only children of Z. Both of
them are married and have a total of seven
children. X has two sons. How many
children does X have?

1. A, who is the son of Y, has two siblings.
2. X has only two daughters.

(a) Statement 1 alone is sufficient, but
statement 2 alone is not sufficient to
answer the question.

(b) Statement 2 alone is sufficient, but
statement 1 alone is not sufficient to
answer the question.

(c) Both statements taken together are
sufficient to answer the question, but
neither statement alone is sufficient.

(d) Each statement alone is sufficient to
answer the question.

Sonu deposited a sum in X bank at simple
interest which becomes 4 times of itself in
24 years and deposited the same amount in
Y bank at simple interest which becomes 9
times of itself in 40 years. Which of the
following statements is correct?

(a) Bank X offers higher rate of interest

(b) Bank Y offers higher rate of interest

(c) Both banks offer the same rate of interest
(

d) Cannot be determined

On average, the bottle-nosed dolphin
comes up for air once every two minutes;
the beluga whale, a close relative, comes up
for air on average once every five minutes.
The number of times a bottle-nosed
dolphin would come up for air in a 24 hour
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TRIST 3T SITe} 8 3R IS e arafaes aret
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c) 20
d) 79 ¥ P1S el
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(€) I YT Th Y Y T IR ¢ P fore g
g AfhT Had U HYT IO TSI © |

(d)?élﬁ@&?ﬂﬂ%ﬁﬁéﬁ%%@@fﬁ
|

T A X 8% o QIYR0 S W TH YRR

ST Pt S 24 IO | A UARTR BT 4 AT B

STl 8 3R Y 9% T |IYRUT 1S UR 40 9Ot |
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(a) S X I ST &R UG HAT S |
(b) % Y I ST &R UG- HAT S |
(c) Al §F THH TS R USH HRA € |

(d) Freifa 98t fear ST 9war g |

died-AId sTafp- i Ud® of e o
T 9R 91 & Y FWR 3medt g Sua! Hwe
TSI S R S Ul Ui e A T
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120.

period is approximately what percent
greater than the number of times a beluga
whale would come up for air in that same
time period?

(a) 75%
(b) 100%
(c) 50%
(d) 150%
16 years ago Tanya's grandfather was 8
times her age. Her grandfather would be 3
times of her age 8 years from now. 8 years

ago, what was the ratio of Tanya‘s age to
that of her grandfather‘s?

Directions for the question no (121-122)
Graph given below shows data of production
of different agricultural products in tonnes

1 -

Tonnes
© = N W B G O N ® ©

Rice Barley Tobacco Maize Peas Sugarcane Sorghum Mustard Jute

Crop
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SR MEf, a8 I JHaTafy # I @ gRI
I & fiT SW A BT BT BT AU
fa- ufa=ra siftre g

@) 75 %
(b) 100 %
(c) 50 %
(d) 150 %

| wa?rarrg 3T
qﬁmaﬁan‘gaﬁ?w%maﬁan‘gm
ST T UT?

(a) 8:29

(b) 7:29

(c) 29:8

(d) 11:53

usil (121-122) & fere fAd=r :

= fear o urw faftrs Sy Iarel & Idea &
3ffrsl B eI A ST R |

Tonnes

Rice Barley Tobacco Maize  Peas

Crop

Sugarcane Sorghum Mustard  Jute
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121.

122.

123.

124.

Kharif crops are Rice,
Sugarcane, and Jute.

Sorghum, Maize,

Rabi crops are Barley, Peas and Mustard.

What is the total production of kharif crops
(listed in the graph) for the given year?

(a) 30 tonnes
(b) 22 tonnes
(c) 28 tonnes
(d) 14 tonnes

What is the difference between production
of rabi crops and kharif crops?

(a) 23.5 tonnes
(b) 24.5 tonnes
(c) 22.5 tonnes
(

d) 23 tonnes

What is the number of zeroes at the end of
22x33x55x77?

(a) 4
(b) 3
(©) 2
(d) 5

In a group of 150 students, find the number
of girls.

1. Each girl was given 50 paise, while each boy
was given 25 paise to purchase goods
totalling Rs. 49.

2. Girls and boys were given 30 paise each to
buy goods totalling Rs. 45.

(a) The question can be answered with the
help of any one statement alone but not
by the other statement.

(b) The question can be answered with the
help of either of the statements taken
individually.

(c) The question can be answered with the help
of both statements together.

(d) The question cannot be answered even
with the help of both statements together.
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T U W% P ®HYS 919d, SaR, AIBI, T
3R e § | X& &1 B off, AeR 3R WA |

T4 § WH® $t GOl (TP 6 GHIaS) BT o
IS HT 82

(a) 30 T
(b) 22 T
(c) 28 T
(d) 14T

& P B! iR WP B BHA! P IdTe
H T 3R 272

gmﬁsﬁﬂ%ﬁﬁwaﬁﬁwmﬁ
?

b) 3

c)2

d)5

150 DEI & JYg H adsibal @t GBI Fd
I |

1. $d AR 49 U DT GV WlgA & o,

TS A8H! & 50 U faU 1T IR UdS a8
P25 T R TN |

2. T AR 45 IUT BT IXY WRIe & for
TSPl 3R dSH! | ¥ Ud® &I 30 U9 T

(2)37H T fHdl T HYT BT 3hd IUANT B
Ty DI 5 [T o Gbell & , A GaR HYUT
e

(b)3 HYA U ¥ [t ot T S P 31l AR
U b gl fobal S FepaT & |

(C)a HUAT DI Tp TTY ABR UY B g fhar o1
IJparg |

()G HYUT BT Th 1Y ABY Y UY B g el
g o g |

(
(
(
(
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shelfs per their genres. There are 3 fiction

TR ARt ® sgafeyd fdar S=r 7 |

125. In a library books are to be arranged on a 125. Udh J&IBIAY e g'\lﬁa?[ ® IT0] Aferat &
3
2

126.

127

books, 4 educational books, 3 research
books and 2 recreational books. Books of
same genres should be placed together.
What is the numberof ways in which this
task can be completed?

(a) 41462
(b) 41472
(c) 3456
(d) 3466
Directions for the question no (126-128) :

Read the information given below and
answer the items that follow:

Mr. X visits six different cities Delhi,
Kolkata, Bhopal, Jaipur, Mumbai and
Hyderabad but not necessary in the same
order on six different days of the week
starting from Monday to Saturday. The
number of days after the visit to Delhi and
before the visit to Kolkata is same. Delhi is
visited before Kolkata but not on
Wednesday. Jaipur is neither visited on
Monday nor on Wednesday. There is a gap
of only two days between the visit to
Jaipur and Hyderabad. Mumbai is visited
just after Hyderabad but not on Thursday

On which day Mr. X visited Bhopal?

a
b
c) Thursday
d) Friday

Which of the following is correct?

(a) Tuesday

(b) Wednesday
(
(

(a) Kolkata is visited on Friday.
(b) Hyderabad is visited on Monday.

(c) There is a gap of two days between the
visit to Bhopal and Delhi.

(d) Jaipur is visited just after Kolkata.
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firam, 4 Aee TP, 3 AW [P 3R
TAR® Q&I @ | T g1 Aferdl ) grad uw
- TY G ST 1T | 59 1 &) fhaq UeR

(a) 41462
(b) 41472
(c) 3456
(d) 3466

w9l (126-128) & forg fAd=r
2 & 7S IR B ufeT 3R 3TF M M
arat gslf & IR dIfvTe

ot x HAR Y IR T T8 & T AT -
e fefl & | B8 3T - e W e
DA, HIUTS , SR , Has 3R SREIS Bl
AT B & , AfhT HaD gl fb s pA |
| foceht Y A B F I 3R DHIADI Bt
YT P A Ugd & el Dl T A § |
foccht ¥ Ugd HIABIAN DI TR DI T8 Al
FUAR DI gl | YR DI JET A dl HAR B
3R 7 &) YUIR P P TS | SRR 3R BRES
@ BT & o Had ol A BT IR 7
REETE & Ol F1G s B! I PI 718 afeh
TSAR & g |

At x fopa fe1 viure eme 92

fEdd o - a2

(a) YEHAR B! HIADHIIT B IR BT T3 |
(b) THAR B RTEIE BT I B TS |

(c) YT 3R feeht @t amn & qeg & famf &1
JRE |

(d) PIABTAT & 31D SIG SIAYR B! AT i T |
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128.

129.

130.

131.

Which place is visited on Thursday?
(a) Jaipur

(b) Kolkata

(c) Bhopal

(d) Mumbai

A and B are a married couple, A being the
male member. D is the only son of C, who
is the brother of A. E is the sister of D. B is
the daughter-in-law of F. How is D related
to B?

(a) Uncle
(b) Nephew

(c) Father

(d) Maternal Uncle

Directions for the question no (130-131) :

After the success of Nasta house which
was opened by Mr. Sony in the month of
April a few years ago, Mr. Sony decided to
open its two more branches ‘B1‘ and ‘B2°
in April month. Branch B2 was opened 15
days after the branch B1 was opened and
5 days after the anniversary day of Nasta
house. That year Mr. Sony -celebrated
anniversary of Nasta house on third
Tuesday of the month and the last day of
the April month that year was also
Tuesday.

On which date was branch B1 opened?

a) 6th April
b) 16th April
c) 15th April
) None of these

(
(
(
(d

On which day of the week was branch B2
opened?

a) Tuesday
b) Wednesday
c) Thursday

(
(
(
(d) Sunday
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AR P fHd RIT 3 GE1 B 182

(a) SR
(b) DIABTAT
(c) HraTe

(d) He3

AGﬁTBWﬁﬂT%HW% A TS 39 Had
2ID,CHISHAAT YA S SN A BT UTS B | E,
DPIFEAR IB,FHI TIEYZ ID,B A fFw
TR TSR 2

(a) @Ml

(b) HeitaTT
(c) foar
(d) HIHT
u¥(130-131) & fore fdwr

$% 99 Ud 30d Are # ot I gR1 Wia Y
IRT TR B! Ghadl & gyTd , o It T 3d
e § 3O &l 3R IRA ' B1 ' 3R ' B2 ' WieA
1 Aot fosan | wrRaT B1 @iem & 15 f& ugrd

3R TRT TR &1 IS & 5 {7 uTd wrar B2
P e T | 39 Iy ff G A AR P AR
TR &I ARAT TR bl TS 75 3R 39
¥ 31U ATE & 3ifaw faT it Hrear a7 |
AT B1 & frg aa & @ 1ar?
(a) 6 3
(b) 16 30
(c) 15 30
(d) 30 J B e
Ture & fey feT wmar B2 &1 @ier mar?
(a) HITAAR
(b) gUAR
(c) TRdAR
(d) Ifdar
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132.

133.

134.

135.

Consider the following Figure:

How Many triangles does the above figure
have?

(@) 8

(b) 10
(c) 12
(d) 18

X and Y are integers, such that X is always
greater than Y. If X2-Y?=Z, then

(a) Z is always greater than zero
(b) Z is always less than zero

(c) Z is greater than zero, if X and Y are positive
integers

(d) Z is greater than zero, if X and Y are
negative integers

There are three pendulums in a room. One
rings every 30 minutes, second rings every
45 minutes and the third rings at every 60
minute. How many times, all the three
pendulums will ring simultaneously in 24
hours?

(a) 12
(b) 8

(c) 18
(d) 16

Consider the following statements about
Vikas:

1. Vikas eats Papaya on Thursday.

2.He eats watermelon two days prior to eating
mango.

3.He eats Grapes on the day following the day
of eating watermelon.

4. He doesn‘t eats Banana on Saturday
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faffea f@ w® f@arR R
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(@) 8

(b) 10

(c)12

(d) 18

XMRYUiF g, TR XTAMY A 4RF & |
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(a) Z BORM I X S 8
(b) ZBAMYI A HA S
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PN ANTUIGgaU T IR 30 e A e

IoIA1 g, B¥ 45 fAe A ol 3R B 60
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(a) 12

(b) 8

(c) 18

(d) 16
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136.

137.

If he eats, just one fruit in a day, and he
doesn‘t eats anything on Sunday, then he eats
Watermelon on:

(a) Friday
(b)
(c) Wednesday
d)

(

If STUDY is written as 34568 and ONIONS
is written as 872172, then TUTION will be
written as:

(@) 454167
(b) 454671
(c) 656127
(d) 721656

Tuesday

Monday

Directions: Read the following passages
and answer the questions that follow each
passage. Your answers to these Questions
should be based on the passages only

Passage - 1

It is a hard reality that not all medical
interventions are available to every citizen who
may need it. The gap between what is
technologically possible and what government
hospitals generally provide widened
appreciably after the technological leaps in
medical care began, starting in the 1980s.
Every government since Independence has
stated egalitarianism as its goal in health care.
The policies, however, have not matched the
statements. Many interventions, especially
those which are very expensive, continue to be
provided only to those who can pay for them.
This is medical rationing of the covert kind.
Token provision of these interventions in a few
government hospitals is merely an attempt by
governments to appear fair. The new
Ayushman Bharat health scheme to provide
secondary and tertiary care to those who are
socio-economically deprived has a cap of %5
lakhs per family per year. It is quite obvious
that many interventions cannot be accessed
for this amount, certainly not human organ
transplants.

What is the main idea that we can infer 137.

from the passage?
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)
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ufvwe gr1 il faear s a@ aren g=1
fraRwg 2
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139.

(a) Ayushman Bharat health scheme will
provide a major boost to public health
infrastructure in India.

(b) Government hospitals in India do not
provide facilities for expensive treatments

like organ transplants.

(c) Government has not given adequate focus
to provisioning of public healthcare since
independence.

(d) Public healthcare is weak mainly due to
lack of research in government hospitals.

On the basis of the above passage, the
following assumptions have been made:

1.Successive governments, since
Independence, have supported private
healthcare.

2. Ayushman Bharat health scheme can be
availed only in government hospitals.

3. Medical rationing is illegal in India.

Which of the above assumptions is/are valid?
(@) 2 only
(b) 2 and 3 only
(c) 1 and 2 only
(d) None of the above
Passage — 2

There has recently been an increasing
sense of competition, with governments
claiming how their schools are out-
performing private schools. While this
may induce a positive pressure to perform,
the reality is that apart from the elite few,
the bulk of private schools are under-
resourced and have little regulation of
quality, safety, or outcomes. In this
context, we should question  if
administrative strengthening, by itself, is
merely improving the management of a
faulty process, perpetuating a mass-
production model of education — or the
‘Prussian Model‘ — that may have outlived
its utility.

On the basis of above passage the following
assumptions have been made:
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YdYROMY §1S TS 3 :

49



140.

1. Government schools are outperforming all
the private schools.

2. Administrative strengthening is the need of
the hour for a mass-production model of
education.

Which of the above assumptions is/are valid?

a) 1 only
b) 2 only
c) Both 1 and 2

(
(
(
(d) Neither 1 nor 2

Passage - 3

Biodiversity is especially important to the
medical and pharmaceutical industries.
Scientists have discovered many
chemicals in rain forest plants that are
now used in helpful drugs. One of the
most popular and safe pain relievers,
aspirin, was originally made from the bark
of willow trees. Medicines that treat some
forms of cancer have been made from the
rosy periwinkle, a flower that grows on the
African island of Madagascar. Scientists
have studied only a small percentage of
rain forest species in their search for
cures. But every year, due to climate
change thousands of species go extinct, or
die out entirely, before scientists can
determine whether they might be useful in
medicines.

On the basis of the above passage, the
following assumptions have been made:

1.Scientists can resort to plant cloning
techniques for extinct species to develop
popular medicines like Aspirin and
cancer-curing drugs.

2.Ignoring deforestation and
desertification is a huge risk for national
economics.
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Which of the above assumptions is/are
valid?

(@) 1 only

(b) Both 1 and 2
(c) 1 and 2

(d) Neither 1 nor 2

Passage - 4

Urbanization, defined as the process of
increasing concentration of population in
cities has transformed Europe from
predominantly rural into an urban society
during the last two centuries.In many
countries, massive migrations from rural
areas to cities lead to population decline in
rural regions undermining their economic
performance and causing adverse social
consequences. Most of the developed
countries reached the ceiling of rapid
urbanization in the course of the twentieth
century, and the unidirectional
transformation gave way to more complex
patterns of urban-rural population dynamics.

In the 1970s, a reversal of the wurban
concentration process was noticed in the USA
and many western European countries, which
many scholars interpreted as a sign of a
turnaround of the dominant trend into
population de-concentration. Counter-
urbanization was interpreted to be driven by
the increasing importance of quality of life and
post- Fordism economic transformation.

What according to the author gave way to
more complex patterns of urban-rural
population dynamics?

(a) The issue of rapid migration from third
world countries to developed countries.

JATF CET- 21

141.

SUed Ul A A B - A/ A TR/ T2
(a) Had 1
(b) 1 3R 2 T
(c) Pad 2
(@Td1,982
=g - 4

R} W SR &1 dgd Ub-RU1 DI Uiehdl & =4
7 ofRuifda wedierur 3 forg & warfssal &
SR TR B & 70 J Y07 F <redt gt o
oRafda #= fear g | oS <= & , wmfior &= §
TR W AUS UHN W U § U aFf #
S & fiRmge o 8 S 3T e
UaRM HHGR B 1§ 3R Ufdpd Iried
Ry I@d Bl W@ © | e fasia om
dT RdTed] & IR g AEIBRUN BT FHT R
UE U 3R TR URad— 3 e - arior
SR B MaRfiadr & 31 Sfed Wy &l
Al vere fpar |

1970 & <% W |, Ygad IT 3RS 3R F3
uigEt Ridia d=1 H et Fbgur uishar &
HAYT ¢l AT, ot w8 fagmH A SHeRe
a0 DI Udd Ughi & daelid & Hbd &b U
o o 1 | Ul LB B AR Siia bl
TUIGRTT 3R Biedle & a1g & 3Nffe aRads &
S¢d Hed J dTferd SgahHU & &g | &1 T3 of |

dGF & IR fFa 9w 7 wedH - ynfior
e, faeitedar & siftre Sfed @y &1
it e o ufa - e fear?

(a) I1g fay & <=0 9 fawfayd <= & oot @
Yoo o Tg, A |

51



142.

(b)Reversal of
concentration process,
counter urbanization.

urban population
also known as

(c) One-way migration of people i.e. from rural
to urban region, which has adverse social
consequences.

(d) Urban to rural migration driven by post-
Fordism economic transformation.

On the basis of the above passage, the
following assumptions have been made:

1. Macro-economic models should be used to
explain population de-concentration in
rural areas.

2. Migration in Europe and other developed
countries follows a seasonally cyclical
pattern.

3. Fordism could be a reason for large scale
rural-urban migration in Europe.

Which of the above assumptions is/are not
valid?

(@) 1 and 2 Only
(b) 3 Only

(c) 1 and 3 Only
(d) 1,2 and 3

Passage - 5

Privatisation is not a default option;
rather, it is resorted to only out of
extreme necessity. Privatization is
resorted not just when the firm makes
losses, but only when the physical
performance is so bad that the PSU
becomes a political embarrassment to
the Government.This may explain the
hesitation to privatise some of the
largest loss-making PSUs — Air India,
the BSNL and MTNL as the
embarrassment threshold may not
have been reached as yet. But why
privatise a profit-making PSU. What
comes into play here is not the lofty
—business is not the business of
governmentl argument, but a more
mundane fiscal imperative. The
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(b) XE SHAT Y501 UfehdT & Hhaul A
o ufd - Tedrur FHEI ST g |

(c) IO ¥ TR & H AN o ThaWbl Jar
3, et ufdga wmTore gRomT gan g |

d) Bledre uyrd e aftad= @ IfRa ed &
TTHIOT Ui A |

S tRwe & onuR W, FFafafeq

ARG §915 TS 3 :

1. THIOT &3 H SIReT a5 U1 1 WY B b
forr gufy - oo ufemm &1 Iy fbar
ST =R |

2. T SR 3= A Rra S & vareH Al =9
Y Ih 1 UfqHIT T UTe P § |

3. Brede Y H 3% 90 1R Irfior - wgd
U &1 Ueh HRUI & Ihd1 3 |

SIutfe gdyRomal § QB - &y T R / 87

(a) PId 1 3R 2
(b) Had 3

(c) Fad 1 3R 3
(d)1,23R3

Passage - 5

fAeiRur T fewiee fadey T8l & , sfcw
T8 Had 3ffd AagHdl § FIF TER1 7 |
fASterur &7 IUTNT ad =18 forar ST § o
BH UTeT Bl & , A Hhad ad o Hifds
UeRH ST TR BidT & {6 PSU TRAR &
fore we Iorifae wffeht a9 ot 8 1 U8
$3 qaY 98 UIC d1d Fasi-db IHH! Bl
Aot o A feafedarge &) Iug 9ol
& U H Uit o1 ggele IR ol I g
TS Ug T 8 | AfeT aH HHR ard
grduiAe IUpH o1 it &t | agl ot
Hg@yul g ST § 98 Jard d@ el b
YT TRPR BT HTH Tl & S T 3P
graie faxiia sifFarfar g |Eﬂﬁﬁﬁ?ﬂf$
foru fo §31 & fafo=1 & U ad RIS 30
Y UIS 3w d8g I U &A1 81T | I8

52



143.

144.

Finance  Minister's disinvestment
target of a little over a lakh of crores for
the current fiscal has to be met. It is
this fiscal requirement that now drives
privatisation. Let wus revisit the
question: Should profit-making PSUs
be privatised? It is good to remember
what former Prime Minister
Manmohan Singh once said on the
issue. He made the assurance that the
government would not —privatise profit
making PSUs working in competitive
environmentsl. That is, if the output
price is a competitive price and you still
make a profit, then you are efficient
and the need to privatise does not
arise.

On the basis of the above passage, the
following assumptions have been made:

1. Government should interfere into the
market.

2. Disinvestment is the major contributor to
fiscal consolidation.

3. Government should not privatize any
profit making PSUs.

Which of the above assumptions is/re valid?
(@) 1 and 2 only
(b) 2 only
(c) 1 and 3 only
(d) None of the above

What is the main idea that we can infer 144.

from the passage?

(a)Privatization is one of the best solutions to
deal with fiscal problems.

(b)Privatization should be resorted to when the
firm makes losses.

(c)Competitive PSUs should not be privatized.
(d) None of the above
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TR IR AT § S 376 AT ol
JGTaT &t § | 35T B9 39 U IR GIaRT IR
P : T ATH HHM 9T JIdSied IUHHI BT
st foar s =g 2 g8 arq aAn
3151 ¢ fob gd mem i Rig A U R
U e, IR R gl AT | 3514 Y- foar fas
WHR " ufemyf & ARId # HH B a1
A - USTdT graviie SUpH! &l foidm
el B " | 98 8,4iG 3MIYC Hed Th
Tfaegeff geg § ofiR o st off Ay BT €
, @ oMU HuW § 3R oo e @
IS T8l g

IUR T & YR R, Fgfefaa gromd
CEIERIE]

1. WHR I IR A §ILT HAT 1T |

2. I FHHA & fou fafas &1 uga
IREF § |

3. WHRI IUBH! B! fooait Ht Y HT im0
EHEZSIEIRY

IR YRoNS & § DI A= 82
(a) PId 1 3MR 2
(b) Had 2

(c) Pad 1 3R 3

(d) ST | A P Tl

$9 TR @ ST g faER g §iar 87

(a)RTSTH g Tl § e & fou fHefiewor
T BT AU G |

(b)w%?awﬁaﬁwﬁﬁﬂwmm@m
|

(ufamdf Trdeie IumpHl &1 Fefiezor T8t
far ST =feu |

(d)SRIFd & A BIs T8t
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Passage - 6

Typically, most Indian actors speak
before film releases or parrot tailor
made publicity statements. Most
media interactions are also engineered
with facile questions.Often, actors tend
to pick issues depending on the films
they endorse.

In most cases, these decisions are
influenced by commercial gains and
not ideology.At times, purported social
concerns of Indian actors are reflected
through dalliances with electoral
politics but that‘s often done primarily
for personal gains. On occasion, some
have joined politics to save a fledgling
career.

This is not to suggest that actors ought
to be activists or espouse social issues,
but their choice of films says a lot
about their truest convictions.Things
are however different in the West. In
2017, Meryl Streep used her Golden
Globes Award speech to castigate
Donald Trump. In 2018, Cate
Blanchett delivered a wonderful speech
on gender equality at the Cannes Film
Festival. In contrast, our award
functions are like soap operas where
members of the film fraternity smile
benevolently from the front rows while
their associates accept awards and
thank each other.

The above passage implies that:

1. Indian actors are selfish while western
actors are not.

2. Indian actors seem to be less socially and
politically concerned than western
actors.
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TR - 6

AR W, WEdR YR fiFar fised
Rciel 89 ¥ Ugd <l s 91d Siad 3R
3T foberl AR ®Rd § | ity Hifsan
gy’ off TR ard! & i gHfSId 81d |

|

U, SfHar 39 el & SMYR WR Ge) &1
33T & foF®I 3 THdH oRd § | SUIGRR
ama o, 3 iy aftfoe ary 3 guifaa
B § 3R faaReRT @ 78 | F3 IR, URA
sftFarsft @ SR amfoe fiarst &
AE! IASHIG & Y gFyar & @eEd 9
gRafed fear Sam 8§, dfd a8 SRR
HfqdiTd Y & fU fHAT S8 | $B AR
TR, $3 AN G4 §U BRI Bl 59 & forg
o A A S E

I8 g & & e 181 § b sif¥mamsti &
HAGdl a1 e Hgi R [daR &l
T, Ifek e B I TG Ib ¢
fayTT o1 YRoN & IR T 9gd $B Fedl © |
gTaife aftd & g Sra g 12017 &, ARa
T A SHIE T HT [P R d1 & g
3T TS Tl 3ATS HINUT T JUANT fard
| 2018 &, Ic side A B e Held &
mewmﬂﬁlﬂwm|
% [AWRId , §AR HR TARIE YRGS
Pl TE T € el heA fRed & wew
Wﬁﬁlﬁ?ﬁ@f&ﬂudu@w TRGRId §
S 375 Tga PR WIHR R g
IR TH - R B YqAE A @ |

IURIG T T aread ¢ o -

1.%%%@&%@6@7%%%&
|

2. YR SMfyAaret o ufet siftmarsit ot

JaT | IS SR Ioifde ® 0 J &1
ECIEGIE
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Which of the assumptions made above is/are
valid?

(a) 1 only
b) 2 only
c) Both 1 and 2

(
(
(d) Neither 1 nor 2

What is the most logical and rational
corollary to the above passage?

(a)Actors have a responsibility to actively take
stand on social and political issues.

(b)It is not the commercial gain but the
ideology which should play a primary role
when actors make a statement on a social
issue.

(c)Award functions in the Indian film industry
should emulate the West.

(d)Actors should not pick only those issues
which are related to the films they endorse.

Passage — 7

As India goes into emergency mode to
tackle the potentially catastrophic impacts
of the novel coronavirus (COVID-19), the
‘Kerala model‘is being widely cited as an
example to emulate. In 2018, Kerala
reacted quickly and efficiently to tackle
the Nipah virus outbreak and successfully
managed to confine it to 23 cases. This
success has been credited to the strong
public health infrastructure and the
political will to quickly seek help from a
multidisciplinary team of national and
international experts.

The Kerala Nipah virus outbreak was
thought to have come from fruit bats, a
group of animals that may also be
implicated in other more deadly
outbreaks,

JATF CET- 21

146.

SR TR Ardiet §  HH A A 7 /82
(a) Had 1
(b) Had 2
(c) 1 3R 2 I
(d)ar1Ag2

SWIed W & fou ged dafbe SR
THIITT IUFTHA T 82

(a)TTHIRTG 3R IeHifde Tg W Ifehd &0 I
HeH IoH B ForigRt siftFdrstt & gidt g1

(b)TE TGRS TH el 8 , Afh faaRYRT B,
ford if¥eredl gRT e JHIfSieh Jg IR Uh
FI od I99 Wi Yftret Ayt afey |

(c)HRd hed I & TROR HEDHH B
Ui BT SIHU DAl A8 T |

(d)3Farst & Faa I gl B T8 IS
TRT S I gRT T et @ Gafdd €1

MelRA -7

ST {6 YR Add SRIAGERY (COVID - 19)
¥ gUIfad faaReRt guEl ¥ e & fom
MBI AYS | off 38T § , P AlSd ' Bl
JIHU B & U T 38R0 &b =0 T AUH
®U Y Igd fPaT o w g 1 2018 § , I A
fuTe aRY & UHIT § fAuen & forw It 3R

FHAar ¥ ufafsar &t 3R Ihadgdad 39 23
A dp i o1 H H1HaTe a7 |

T qhAdl 1 99 Holgd Iaol—d W
gt g SR IeHe SHRIfad & 3R
I SR SIRIPH fadivs & T 9g- fowas
& 31 e Bl fea mang |
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possibly including the novel
coronavirus.These diseases, which
—spilloverl from animals to humans are
referred to as zoonotic diseases, and
represent more than 60% of emerging

infectious diseases worldwide. The
destruction of the natural environment,
globalised trade and travel and

industrialised food production systems
have created numerous pathways for new
pathogens to jump between animals and
humans. Understanding this critical
intersection between human health,

domestic and wild animal health and the
environment requires a new integrated
framework — a paradigm called
‘OneHealth".

On the basis of the above passage, which of
the following is not a valid inference?

(a)Bats may be the cause of coronavirus.

(b)Kerala model can be successful in dealing
with coronavirus.

(c)A majority of the infectious diseases in the
world are zoonotic.

(d)Deforestation can be one of the causes of
spread of coronavirus.

On the basis of the above passage, the
following assumptions have been made:

1. Bats pose threat to human health and
hence they should be killed.

2. Globalisation can harm the state of our
well-being.

3. There is not much difference between
human and animal health.
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IRA UE IRY FT UHIU Hdl & TGS,
SIHER]T & T THg Sl 3= °Tdd YUl 9 IR &l
IHhd ¥, FH dYad: lod dREEERY
T 8, J ST gM AT S @ | 3 ferRay, S
I 39 9% Badt 8 Bl Sgoid / Slfed
diariat w1 o 8, ofiR g R # IuRc
TehTHes SHIRAT & 60 % ¥ 3Hf¥e &1 ufaffa
TS | WTpfas yafarur & fa-msr, afye samaR
3R I SR SN W ITe yonferat A
TFERI 3R Tl & fig e & faw U
TS & foT g IR FATE |

T WY, TR 3R SHTE! STaR] o Wy 3R
qaferr & o9 39 Ag@yul IR1E &1 THSHT U
U UHIHd GId Bt ATIRIHT g U Ufad o
‘OneHealth W\‘rﬂ?ﬂ% I

IWRITT TR & YR W, Fufefeaa # 4
P 9T ALY g 22

(a)THIES HRFEERY &1 HRUT g Hdl g |

(b)PRIFEARRY ¥ e ¥ od Aled I%hd ol
IHATE |

(c)gl~aT H HehTHe WM b TgH S[llcd P15

(d)al P} FHeTs HRIFAEERY & TR & HRUN §
ATH G IFaATR |

IR TeiY F YR R, FAufefaa yrong
CRIERIEE

1. TGS HIHd WY & T @Ry a7 #3d &
3R 39T I AR fear S =Ry |
2.3?%W% BRI YaTs ot UMY BT T ugen
THdI 2 |

3.7 3R U] W & ofid FeT iR T81 ¢ |
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Which of the above assumptions can be held
to be valid?

(@) 1 only
(b) 1 and 2 only
(c) 2 and 3 only
(d) 1,2 and 3
Passage - 8

Politicians in India endlessly obsessing over
reservations as the grand panacea for
stemming inequality are getting it all wrong.
By the time someone is eligible for reservation
in  higher education institutions or
government jobs, most people in a poor
country like India would already have forfeited
better worldly prospects. A Lancet study
points out that inequality starts young — and
it's also easiest to overcome the hurdles of
inequality when one is a child. The equity gap
widens through a child‘s formative years
starting with factors like maternal deprivation
and low birth weight. Subsequently,
malnutrition, lack of early child development
facilities and dysfunctional primary schooling
create an unbridgeable gap at the cusp of
adulthood. Children undernourished in the
first two years of life struggle with reduced
adult height, lower attained schooling and
adult incomes. Central and state governments
need to focus more attention on this narrow
band in the 0-2 age group to give a fighting
chance for the mythical demographic dividend
to translate into reality. This is where the
Integrated Child Development Services
programme which operates anganwadis and
provides supplementary nutrition, pre-school
education, immunisation, health and
nutrition guidance for children below the age
of six, pregnant and lactating mothers are
failing to deliver. Low salaries, vacant
supervisory positions, poor toilet coverage,
untrained personnel and decrepit
infrastructure hobble anganwadis from
achieving their goals. Tackling this rot could
address dismal statistics like a third of Indian
children being underweight and 50% of
pregnant women anaemic. If inequality is to
narrow, the conversation needs to shift from
symbolic and superficial yet divisive policies
like reservation to maternal and child health
which offer opportunities to rescue millions
from poor quality of life.
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a)W1

(b) HIA 1 3MR 2

(c) PId 2 3R 3

(d)1,2 3R 3

=TI - 8

YRA H [T HREU BT A Pl G HIA &b
fo Yo ISV IUTT HHGR 98¢ ISP § Hifds
g IS TTed 81 T 8 | O dh ls I FRIeq IR
T WS NHRAT & RE0T & forg g g, ad

TP HRA O TS ¥ HHER a1 Ugd 9 gt
IER ARG FHETS BT ART S | Th dde

AT B W5 g P YRS a8 & ATHH I Tt
g, Ol AT 3MHTT 3R OFH & UG HH dor o
W@r Bt § | 9P §I , FUINT , &1
Wﬁﬁ%gﬁw&ﬁﬁw&ﬁ?m
T fOeay auvedl & YR UR U UNERI
R YT PRA § | Sl & Ugd &l auf | 3reg ity
¥ Y TG SHdls , HH Tpall R&T R FA
JIPH 3 & Y Y Hd § | Py R IsY
WBRI BT 0-2 1Y T & 7 Yph10f o8 W 3%
& Pigd B DI AAWHAl g dlice GRIMOIG
SIS Y & fore arafdesdar § uRafda
FRA BT il foar o1 9 | I8 R Thidpd ard
faprg Qa1 FdHH g S HaISal 1 e
BT g 3R T 3R TUH BRI arelt At
BE A ¥ HH 3H & g & (oY b TN, T4 -
femer fRuem | SR |, TRy 3R Gy e

USH Pl § ,3U d3f &) UTd &3+ H fAwd &l
| | HH da , TTell TSR |, TRIe
e Hav |, R HHf 3R g THS
HHI gl SIS 3T 37U A& b BTRIST B
¥ dfd B ® | 39 o @ Fuen § ue fagE
RO S8 & 37T ao 3R 50 % g Afgemait
P AT S RIS S s I 31T Ihd
g | Tl 3T &) Gphivl BT 8, <l ardiaryg &l
RV S UdipTdHS 3R Tag! iR Iy H
fRursHE ol ¥ 71g iR 910 W @ 3R
RYMFTART B DI TS § S ARdl AT pl
%ﬂmﬁwmﬁmm&wmaﬂﬁ
|
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149. What is the most logical and rational 149

150.

inference that can be made from the above
passage?

(a) Reservation plays only a superficial role in
reducing inequality.

(b) Inequality is a phenomenon that starts
right from the birth of an individual.

(c) Governments need to focus on inequality in
early childhood.

(d) None of the above.

The above passage implies that:
1.Inequality increases with the age of a child.

2.Anganwadis can help reap the demographic
dividend.

Which of the above assumptions is/are valid?
(a) 1 only

b) 2 only

c) Both 1 and 2

(
(
(d) Neither 1 nor 2
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. g difbe MR dhaTd ey | g St
SR U U e A AT S gedT 82

(a) 3REUT 3HA B H B § Hdd Td
Tae! YftresT AT g |

(b) SIFHMT U e § Sl aufad & o H I g
LE S |

(c) TRBRI P! AU H SRIAFT TR & ¢ B
TIRTGAT B |

(d) SWIad # A PIg el |
JURIRT IR BT aread @ o
1. 3 GHFA 9 I ST S Y TGt @ |

2.3{[FarS! SHNIRADT AU & GF: U
B3 A e R IDHA § |

IWId gaurRonst & ¥ »H d A 8 /82
(a) Had |
(b) Had 2
(c) 1 3R 2 gt
(d) A1 ATEI2
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Write two essays, chooseing one topic from | - WUs A 9 B U@ 9 U fawg gaae gl fFa=y
each of the following sections A and B, in g, St we ATHIT 300 SG] T BY:
about 300 words each

Section A TS A
1. Time has come to scrap the sedition law aQ@.Is op|-l-|ﬁ{g|d-| cp{ﬁﬁﬂ'ﬂl’t[ SﬂTrCﬂ%
2. Effect of COVID- 19 on education of children EIEﬁEIﬁf?T&ITqT COVID-19 I YHId

Section B TS B
3. Pros and cons of new education policy — 2020 :réﬁrr&n T-ﬂﬁf- 2020 %tb—l'q% G?RW'F[

direction

4. “One nation, One election” is the step in right "WQTQ,WW"W'EQH]?[.GWWW

61
JATF CET- 21



JATF CET- 21

62



JATF CET- 21

63



JATF CET- 21

64



JATF CET- 21

65



